HE 2tk B TR — 5

AT % E
& JITES A= (CFEH) BRI} i 3 9,632 | * 7,400 PRI 814 3 7,555 7,400 7,400 7,500
HEEE 3 3,700 BEEK 3 4,900 6,200
Tk 83 4 19,264 | * 14,000 4% .13 4 15,115 14,000 14,000 15,000
HEREE 4 7,000 BEEE 4 9,600 12,000
w | 3 19,264 | * 14,000 & —fi% 3 15,117 14,000 14,000 15,000
HERER| 3 7,000 BEEE 3 9,600 12,000
2R | - 43,344 | * 31,000 4H —fi% - 33,750 (HIBR) [GUZ3) (HIRR)
X Trils - 15,500 HGRE A - (HIBR) (GUEI)
e - wRBOsEL] ERMEAE | i | 0.75 1,888 1,800 1,800 1,800
XoTsils - ERHOITIEY BEEIE| 0.75 1,300 1,500
A= (AR | R | 3 9,632 | * 7,400 ER) —fix 3 7,555 7,400 7,400 7,500
HERER| 3 3,700 BEEE 3 4,900 6,200
4% — % 4 23,119 | * 16,000 EE? —fi% 4 18,142 16,000 17,000 18,000
HERER| 4 8,000 BEEE 4 11,000 14,000
w | 3 23,115 | * 16,000 &’ —fi% 3 18,140 16,000 17,000 18,000
HERER| 3 8,000 BEEE 3 11,000 14,000
2R | - 50,279 | * 34,000 4H —fi% - 39,150 (HIBR) (HIRR) (HIRR)
X Trils 17,000 BGRE A (HIBR) (GUEI)
e - wRBOsEL] ERMEAE | i | 0.75 1,888 1,800 1,800 1,800
XoSrils - ERHOITIEY HBEEIE| 0.7F 1,300 1,500
P (BERMEM) | /FAl | 3 703 | 500 i — 3 678 500 500 600
WA 3 250 BEEE 3 300 400
44 — % 4 938 900 4 —fi% 4 904 900 900 900
HERER| 4 450 BEEE| 4 600 700
®H | & 3 703 700 [ —f 3 678 600 600 600
kAR 3 350 BEEE 3 400 500
KR A - wasosams] ERMETE | —k 0.75 169 100 100 100
XoSrils - ERHOITHEY BEEIE| 0.75 100 100
FIE PRl | ik 3 1,642 | * 1,200 TERiT — 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
44 — % 4 2,189 2,100 | rorOFHRO| % 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
®wH | & 3 1,642 1,600 R — 2 1,055 1,000 1,000 1,000
kAR 3 800 BEEE 2 800 900
KR A - wasosams] ERETE | —k 0.75 395 300 300 300
XoSrils ERHOITHEY BEEIE| 0.75 200 200
BIRRE PR | R 3 1,642 | * 1,200 Rl —fi% 3 1,583 1,300 1,400 1,500
kKl 3 600 BERER| 3 900 1,200
4% — % 4 2,189 2,100 | ruoROFHO| % 2 1,055 1,000 1,000 1,000
K] 4 1,050 BERER| 2 600 800
®H | & 3 1,642 1,600 & —fix 2 1,055 1,000 1,000 1,000
weEE 3 800 BERER| 2 800 900
REEE - wanosams] ERMEHE | —ik | 0.75 395 300 300 300
ARG K - ERHOITHEY BRI 0.75 200 200
HRRE PR | R 3 1,876 | * 1,400 Rl —fi% 3 1,809 1,500 1,600 1,800
wEEAE 3 700 BERER| 3 1,000 1,400
4% — % 4 2,502 2500 | raoOROFHRO| % 2 1,206 1,200 1,200 1,200
waEE 4 1,250 BERER| 2 800 1,000
®H | & 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
MK 3 900 BERER| 2 1,000 1,100
REEE wasosams] ERMEHE | —ik | 0.75 452 400 400 400
ARG K - ERHOITHEY BRI 0.75 200 300
HIRRE PR | R 3 703 | * 500 Rl —fi% 3 678 500 500 600
HweEE] 3 250 BEEE| 3 300 400
T | —Rk 4 938 900 | FEORUFHE| —f% 2 452 400 400 400
HEEE 4 450 BEEE 2 200 300
wE | R 3 703 700 & H —fi% 2 452 400 400 400
HwekEEl 3 350 BEEE| 2 300 300
R — A - wrnosss] ERMEHE | —fik | 0.75 169 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
T A= CEH) R 3 9,632 | * 6,800 Rl — % 3 7,555 7,000 7,200 7,500
HwekEEl 3 3,400 BEEE 3 4,700 6,100
T | —ik 4 19,264 | * 10,000 % — % 4 15,115 11,000 13,000 15,000
HEEE 4 5,000 BEEE| 4 8,300 11,000
wH | R 3 19,264 | * 13,000 & H — % 3 15,117 13,000 14,000 15,000
HwekEKl 3 6,500 BEEE 3 9,300 12,000
4 H — i - 43,344 | * 26,000 AR —fix - 33,750 (HIBR) (HIBR) (HIBR)
ARG K - 13,000 AGRE - [GUZI) (HIRR)
EEfEE - wRsossHas| 4E 56 R 1,888 1,800 1,800 1,800
- ERHOIEHEL 1,200 1,500
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AT % E
WA e A= (LAWY | PR S 3 9,632 | * 6,800 PRI 3 3 7,555 7,000 7,200 7,500
HEEE 3 3,400 BEEK 3 4,700 6,100
Tk i 4 23,119 | * 12,000 TPt .13 4 18,142 14,000 16,000 18,000
HERER| 4 6,000 BEEE 4 10,000 14,000
w | 3 23,115 | * 15,000 & —fi% 3 18,140 16,000 17,000 18,000
HERER| 3 7,500 BEEE 3 11,000 14,000
2R | - 50,279 | * 30,000 4H — % - 39,150 (HIBR) [GUZ3) (HIRR)
X Trils - 15,000 HGRE A - (HIBR) (GUEI)
e - wRBOsEL] ERMEAE | i | 0.75 1,888 1,800 1,800 1,800
XoTsils - ERHOITIEY BEEIE| 0.75 1,200 1,500
k= PR | iR 3 1,876 1,800
HERER| 3 900
4% — % 4 2,502 2,500
— aamE 4 1250 Frk2741 81 HEL
wH | & 3 1,876 1,800
HERER| 3 900
e — i - ERHOITIHEY
R GkE fA - AR OEEY ‘ ‘ )
HERE PR | % 3 1,876 1,800
HERER| 3 900
4% — i 4 2,502 2,500
B 1250 Frk2741 81 BEL
®wH | & 3 1,876 1,800
HERER| 3 900
e —fi - ERHOITIEY
x5k A - ERHOEEY
T LA A= (CFEH) PRl | ik 3 10,051 | * 7,600 TERiT — 3 7,884 7,600 7,700 7,800
HERER| 3 3,800 BEEE 3 5,100 6,400
4% —f 4 20,102 | * 15,000 R4 — 4 15,772 15,000 15,000 15,000
HERER| 4 7,500 BEEE| 4 10,000 12,000
®wH | & 3 20,102 | * 15,000 R —f 3 15,775 15,000 15,000 15,000
kAR 3 7,500 BEEE 3 10,000 12,000
2R | - 45,229 | * 33,000 4H — % - 34,020 [GULZ3) (HIRR) (HIRR)
XoSrils - 16,500 B K - [GUEI) (GUEI)
KR A - wasosams] ERETE | —k 0.75 1,971 1,900 1,900 1,900
XoSrils - ERHOITHEY BEEIE| 0.75 1,300 1,600
A= (LBE®) | PR | iR 3 10,051 | * 7,600 PRl — % 3 7,884 7,600 7,700 7,800
kKl 3 3,800 BERER| 3 5,100 6,400
P4 — i 4 24,124 | * 18,000 P4 — % 4 18,931 18,000 18,000 18,000
K] 4 9,000 BERER| 4 12,000 15,000
®H | & 3 24,120 | * 18,000 & — % 3 18,928 18,000 18,000 18,000
MK 3 9,000 BERER| 3 12,000 15,000
4 H —fix - 52,465 | * 39,000 4 H —fi% - 39,420 (HIBR) (HIBR) (HIBR)
ARG K - 19,500 LR (R - [GUEI) (GUEI)
REREE - wasosams] ERMEHE | —ik | 0.75 1,971 1,900 1,900 1,900
ARGKE - ERHOITHEY BRI 0.75 1,300 1,600
BIRRE PR | R 3 1,876 | * 1,400 Rl —fi% 3 1,809 1,500 1,600 1,800
wEEAE 3 700 BERER| 3 1,000 1,400
4% — % 4 2,502 2500 | raoOROFHRO| % 2 1,206 1,200 1,200 1,200
K 4 1,250 BERER| 2 800 1,000
®H | & 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
wekEEl 3 900 BERER| 2 1,000 1,100
REREE - wanossms] ERMEHE | —ik | 0.75 452 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
ot R 3 1,876 | * 1,400 i — i 3 1,809 1,500 1,600 1,800
HweEEl 3 700 BEEE 3 1,000 1,400
T | —ik 4 2,502 2,500 | ruoROFHRO| % 2 1,206 1,200 1,200 1,200
HEEE 4 1,250 BEEE| 2 800 1,000
wH | R 3 1,876 1,800 & H —fi% 2 1,206 1,200 1,200 1,200
HweEEl 3 900 BEEE 2 1,000 1,100
R — A - wrnosss] ERMEHE | —fik | 0.75 452 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
HIEAER PR 3 1,173 | 900 i — i 3 1,131 900 1,000 1,100
HwekEEl 3 450 BEEE 3 600 800
T | —ik 4 1,564 1,500 | FHOROFHD| —fik 2 754 700 700 700
K| 4 750 BEEE 2 400 500
wH | R 3 1,173 1,100 & H —fix 2 754 700 700 700
HwekEKl 3 550 BEEE 2 600 600
EEfEE - wRpossms] EEMEAE | % |0.75 282 200 200 200
ERHOIEHEL 0.75 100 100
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AT % E
Rt ITES i FIES BRI} S 3 1,642 | * 1,200 PRI 814 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEK 3 900 1,200
Tk i 4 2,189 2,100 | r0Or0r#E| % 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
w | 3 1,642 1,600 & —fi% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRpoEEs| JERME | % | 0.75 395 300 300 300
X Trils - ERHOITIEY BEEIE| 0.75 200 200
KR PR | % 3 234 | * 200 ER) —fi% 3 226 200 200 200
HERER| 3 100 BEEE 3 100 100
% —fix 4 312 300 | FEOROFED| —ii% 2 150 100 100 100
HERER| 4 150 BEEE 2 100 100
w | 3 234 200 &’ —fi% 2 150 100 100 100
HERER| 3 100 BEEE 2 100 100
R % - wRpoaEs| JERMIE | % | 0.75 56 100 100 100
X Trils - ERHOITHEY BEEIE| 0.75 100 100
Fn T g FIE TR M 3 2,815 | * 2,200 PRI —fi% 3 2,714 2,200 2,200 2,200 |45 X
HERER| 3 1,100 BEEE 3 1,400 1,800
4% —fix 4 3,753 3,700 | FHEORUFHD| —ii% 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R —f 2 1,809 1,800 1,800 1,800
WA 3 1,400 BEEE 2 1,500 1,600
B A - wasosams] ERETE | —k | 0.75 678 600 600 600
XoSrils - ERHOITEY BEEIE| 0.75 400 500
PR R M 3 2,815 | * 2,200 ZEHf — % 3 2,714 2,200 2,200 2,200 |H5% =
kAR 3 1,100 BEEE 3 1,400 1,800
44 — % 4 3,753 3,700 | rororn| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R —f 2 1,809 1,800 1,800 1,800
HERER| 3 1,400 BEEE 2 1,500 1,600
B A - wasosams] ERETE | —k 0.75 678 600 600 600
x5k A - AR D3RS HREREIR| 0.7F 400 500
PRI R o — |45 1 M54 e R M 3 3,284 | * 2,500 ZEHif — i 3 3,166 2,700 2,900 3,100
kAR 3 1,250 BEEE 3 1,800 2,400
44 — % 4 4,379 4300 | rOrROFHRO| —f% 2 2,111 2,100 2,100 2,100
HERER| 4 2,150 BEEE 2 1,400 1,700
wH | R 3 3,284 3,200 & —fix 2 2,111 2,100 2,100 2,100
kKl 3 1,600 BERER| 2 1,700 1,900
REEE - wasossms] ERMEHE | —ik | 0.75 791 700 700 700
ARG K ERHOITHEY BRI 0.75 400 500
HRRE PR | R 3 2,346 | * 1,800 Rl —fi% 3 2,262 1,900 2,000 2,200
weEE 3 900 BERER| 3 1,300 1,700
4% — % 4 3,128 3,100 | roOr0r®| —fi% 2 1,508 1,500 1,500 1,500
K] 4 1,550 BERER| 2 1,000 1,200
®H | & 3 2,346 2,300 & —fix 2 1,508 1,500 1,500 1,500
wEEAE 3 1,150 BERER| 2 1,200 1,300
REEE - wanosams] ERMEHE | —ik | 0.75 565 500 500 500
ARRER - ERHOITHEY BRI 0.75 300 400
EIEAREER) | PR | 3 2,463 | * 1,900 PRl — % 3 2,375 2,000 2,100 2,300
MK 3 950 BERER| 3 1,400 1,800
4% — % 4 3,284 3200 | ruorROFHRO| % 2 1,583 1,500 1,500 1,500
K 4 1,600 BERER| 2 1,000 1,200
®H | & 3 2,463 2,400 & —fix 2 1,583 1,500 1,500 1,500
HweEE] 3 1,200 BEEE| 2 1,300 1,400
R — A - wanosss] ERMEHE | —fik | 0.75 593 500 500 500
ARG K - ERHOITHEY BEEIE| 0.75 300 400
AR R 3 1,876 | * 1,400 i — i 3 1,809 1,500 1,600 1,800
HwekEEl 3 700 BEEE| 3 1,000 1,400
T | —ik 4 2,502 2,500 | ruoROFHRO| % 2 1,206 1,200 1,200 1,200
HEEE 4 1,250 BEEE 2 800 1,000
wE | R 3 1,876 1,800 & H —fi% 2 1,206 1,200 1,200 1,200
HwekEEl 3 900 BEEE| 2 1,000 1,100
R — A - wrnosss] ERMEHE | —fik | 0.75 452 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
HEERE FHT | 3 1,876 | * 1,400 ZFi — i 3 1,809 1,500 1,600 1,800
HwekEKl 3 700 BEEE 3 1,000 1,400
Ttk | 4 2,502 2500 | ruOROFHRO| % 2 1,206 1,200 1,200 1,200
K| 4 1,250 BEEE 2 800 1,000
w’H | 3 1,876 1,800 wh — i 2 1,206 1,200 1,200 1,200
3 900 2 1,000 1,100
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AT % E
IR R 5 — | B SRR rEREE ik - wRsossEs] LR E % | 0.75 452 400 400 400
TG K - ERHOIEIEY BEKEA| 0.75 200 300
HOERE BRI} i 3 1,642 | * 1,200 PRI .13 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
4% —fix 4 2,189 2,100 | FHEORFEHD| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
w | 3 1,642 1,600 &’ —fi% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRpoEEs| JERMAE | % | 0.75 395 300 300 300
XoTsils - ERHOITIEY BEEIE| 0.75 200 200
BTHRERE TR M 3 703 | * 500 PRI — % 3 678 500 500 600
HERER| 3 250 BEEE 3 300 400
4% —fix 4 938 900 | FORUFRO| —fi% 2 452 400 400 400
HERER| 4 450 BEEE 2 200 300
w | 3 703 700 &’ —fi% 2 452 400 400 400
HERER| 3 350 BEEE 2 300 300
R % - wRsoEEs| JERMIE | % | 0.75 169 100 100 100
X Trils - ERHOITHEY BEEIE| 0.75 100 100
H1R=E TR | M 3 2,346 | * 1,800 ER) —fi% 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
44 — % 4 3,128 3,100 | reorvr®| —i% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
®wH | & 3 2,346 2,300 R — 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
B A - wasosams] ERETE | —k | 0.75 565 500 500 500
x5k A - AR D3RS HREREIR| 0.7F 300 400
o= PRl | ik 3 1,173 | * 900 TERiT — 3 1,131 900 1,000 1,100
HERER| 3 450 BEEE 3 600 800
44 — % 4 1,564 1,500 | FHEOROFHD| —fik 2 754 700 700 700
HERER| 4 750 BEEE 2 400 500
®wH | & 3 1,173 1,100 R —f 2 754 700 700 700
kAR 3 550 BEEE 2 600 600
KR A - wasosams] ERETE | —k | 0.75 282 200 200 200
XoSrils - ERHOITEY BEEIE| 0.75 100 100
F3E OR=E) PRl | ik 3 469 | * 400 Gt —fi% 3 452 400 400 400
HERER| 3 200 BEEE 3 200 300
4% — % 4 625 600 | FEOROFHE| —f% 2 301 300 300 300
K] 4 300 BERER| 2 200 200
®H | & 3 469 400 & —fix 2 301 300 300 300
wEEAE 3 200 BERER| 2 200 200
REREE - wasosams] ERMEHE | —ik | 0.75 113 100 100 100
ARG K - ERHOITHEY BRI 0.75 100 100
HAF= PR | R 3 1,876 | * 1,400 PRl — % 3 1,809 1,500 1,600 1,800
wEEAE 3 700 BERER| 3 1,000 1,400
4% — % 4 2,502 2500 | ruoOROFHRO| % 2 1,206 1,200 1,200 1,200
K 4 1,250 BERER| 2 800 1,000
®H | & 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
weEE| 3 900 BERER| 2 1,000 1,100
REREE - wanosams] ERMEHE | —ik | 0.75 452 400 400 400
AKER - ERHOITHEY BRI 0.75 200 300
KE PR | R 3 234 | * 200 PRl — % 3 226 200 200 200
wekEEl 3 100 BERER| 3 100 100
4% — % 4 312 300 | FEORUFHD| —fik 2 150 100 100 100
BEEE 4 150 BEEE| 2 100 100
wE | R 3 234 200 & H —fi% 2 150 100 100 100
HweEEl 3 100 BEEE 2 100 100
R — A - wrnosss] ERMEHE | —fik | 0.75 56 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
TR (LEMAD | Rl | —i% 3 3,284 | * 2,500 i — i 3 3,166 2,700 2,900 3,100
HweEEl 3 1,250 BEEE 3 1,800 2,400
T | —ik 4 4,379 4300 | ruorROFHO| % 2 2,111 2,100 2,100 2,100
HEEE 4 2,150 BEEE| 2 1,400 1,700
wH | R 3 3,284 3,200 & H —fi% 2 2,111 2,100 2,100 2,100
HwekEEl 3 1,600 BEEE| 2 1,700 1,900
R — A - wrnosss] ERMEHE | —fik | 0.75 791 700 700 700
ARG K - ERHOITHEY BEEIE| 0.75 400 500
LR ERER) | AT | i 3 1,642 | 1,200 i — i 3 1,583 1,300 1,400 1,500
HwekEKl 3 600 BEEE 3 900 1,200
T | —fk 4 2,189 2,100 | ruoOROFHRO| % 2 1,055 1,000 1,000 1,000
4 1,050 2 600 800

38



HE 2tk B TR — 5

AT % E
AR o o — | T3558 (BRAEM) | &M fix 3 1,642 1,600 & - 2 1,055 1,000 1,000 1,000
HEEE 3 800 BEEK 2 800 900
R % - wRposEs| AR AR f% | 0.75 395 300 300 300
X Trils - ERHOITIEY BEEIE| 0.75 200 200
BB 0ALLFHED) | PR | R 3 4,599 | * 3,700 ER) —fix 3 4,435 3,900 4,100 4,400
HERER| 3 1,850 BEEE 3 2,700 3,500
% —fix 4 6,132 6,100 | FOROFHO| —fi% 2 2,956 2,900 2,900 2,900
HERER| 4 3,050 BEEE 2 1,900 2,400
w | 3 4,599 4,500 &’ —fi% 2 2,956 2,900 2,900 2,900
HERER| 3 2,250 BEEE 2 2,400 2,600
e - wRBOsEL] ERMEAE | i | 0.75 1,108 1,100 1,100 1,100
X Trils - ERHOITHEY BEEIE| 0.75 700 900
BB QUL | FRT | R 3 6,568 | * 5,200 ER) —fix 3 6,333 5,500 5,900 6,300
HERER| 3 2,600 BEEE 3 3,800 5,000
4% —fix 4 8,758 8,700 | FHEORUF#HD| —ii% 2 4,222 4,200 4,200 4,200
HERER| 4 4,350 BEEE 2 2,800 3,500
wH | & 3 6,568 6,500 &’ —fix 2 4,222 4,200 4,200 4,200
HERER| 3 3,250 BEEE 2 3,500 3,800
R % - wRsoEEs| JERME | % | 0.75 1,583 1,500 1,500 1,500
XoSrils - ERHOITIEY BEEIE| 0.75 1,000 1,200
BorE GERWEM) | FAT | R 3 2,956 2,900
WA 3 1,450
4% — i 4 3,942 3,900
HERER| 4 1,950
®H | & 3 2,956 2,900 TRi2741 B 1EEL
kAR 3 1,450
e —fi - ERHOIBIHEY
x5 GkE fA - ERHOEEY
BaRE(RREM) | 2R | 10 6,336 6,300
AR 10 3,150
A PRl | R 1 1,876 | * 1,400 TERiT — 1 1,809 1,500 1,600 1,800
HERER 1 700 BEEE 1 1,000 1,400
44 — % 1 1,876 1,800 LS —fi% 1 1,809 1,800 1,800 1,800
HERER 1 900 BEEE 1 1,200 1,500
®H | & 1 1,876 1,800 R — 1 1,809 1,800 1,800 1,800
AR 1 900 BEEE 1 1,200 1,500
ET /= PR | R 1 156 100 PRl — % 1 150 100 100 100
Ttk A 1 156 100 T 53 1 150 100 100 100
w/H | R 1 156 100 & —fix 1 150 100 100 100
FBrAapE | A 1 156 100 Pl 53 1 150 100 100 100
k| — 1 156 100 Pk — % 1 150 100 100 100
il - 1 156 100 R 5 1 150 100 100 100
REEGEER) | AT | R 1 747 | % 500 R — i 1 719 500 600 700
K1 250 BERER 1 400 500
P4 — 1 747 700 P4 — % 1 719 700 700 700
MK 1 350 BERER 1 400 500
®H | & 1 747 700 & —fix 1 719 700 700 700
K 1 350 BERER| 1 400 500
RE=CEEER) | PR | iR 1 373 300 PRl — % 1 359 300 300 400
K1 150 BERER 1 200 300
P4 — i 1 373 300 P4 — % 1 359 400 400 400
K1 150 BERER 1 200 300
®H | & 1 373 300 & —fix 1 359 400 400 400
K1 150 BEEE| 1 200 300
PR R — | 5 1 SR A R 3 4,222 4,200 i — % 3 4,071 4,000 4,000 4,000
HweEEl 3 2,100 BEEE 3 2,700 3,300
T | —ik 4 5,630 5,600 | FHEOROTFHD| —i 2 2,714 2,700 2,700 2,700
HEEE 4 2,800 BEEE| 2 1,800 2,200
wH | R 3 4,222 4,200 & H — % 2 2,714 2,700 2,700 2,700
HweEEl 3 2,100 BEEE 2 2,300 2,500
R — A - wrnosss] ERMEHE | —fik | 0.75 1,017 1,000 1,000 1,000
ARG K - ERHOITHEY BEEIE| 0.75 700 800
ot PR 3 4,222 4,200 i — % 3 4,071 4,000 4,000 4,000
HwekEEl 3 2,100 BEEE 3 2,700 3,300
T | —ik 4 5,630 5,600 | FHEOROFHD| —i 2 2,714 2,700 2,700 2,700
K| 4 2,800 BEEE 2 1,800 2,200
wH | R 3 4,222 4,200 & H —fix 2 2,714 2,700 2,700 2,700
HwekEKl 3 2,100 BEEE 2 2,300 2,500
EEfEE - wRpossms] EEMEAE | % |0.75 1,017 1,000 1,000 1,000
ERHOIEHEL 0.75 700 800
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AT % E
IR R 5 — | B SEE A BRI} S 3 2,346 2,300 PRI 814 3 2,262 2,200 2,200 2,200
HEEE 3 1,150 BEEK 3 1,500 1,800
Tk i 4 3,128 3,100 | re0ror®E| % 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
w | 3 2,346 2,300 & —fix 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
R % - wRpoEEs| JERME | % | 0.75 565 500 500 500
X Trils - ERHOITIEY BEEIE| 0.75 300 400
HAERE PRl | ik 3 2,346 2,300 PRI — 3 2,262 2,200 2,200 2,200
HERER| 3 1,150 BEEE 3 1,500 1,800
% —fix 4 3,128 3,100 | FHEOROFED| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
w | 3 2,346 2,300 &’ —fix 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
R % - wRpoaEs| JERMIE | % | 0.75 565 500 500 500
X Trils - ERHOITHEY BEEIE| 0.75 300 400
FEERE PR | iR 3 2,346 2,300 PRI — % 3 2,262 2,200 2,200 2,200
HERER| 3 1,150 BEEE 3 1,500 1,800
4% —fix 4 3,128 3,100 | FHEORUFED| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
®wH | & 3 2,346 2,300 R —f 2 1,508 1,500 1,500 1,500
WA 3 1,150 BEEE 2 1,200 1,300
B A - wasosams] ERETE | —k | 0.75 565 500 500 500
XoSrils - ERHOITEY BEEIE| 0.75 300 400
WO AE IR | PR | 3 2,111 2,100 i} —fi% 3 2,035 2,000 2,000 2,000
kAR 3 1,050 BEEE 3 1,300 1,600
44 — % 4 2,815 2800 | rOrROFH| —fi% 2 1,357 1,300 1,300 1,300
HERER| 4 1,400 BEEE 2 900 1,100
®wH | & 3 2,111 2,100 R —f 2 1,357 1,300 1,300 1,300
HERER| 3 1,050 BEEE 2 1,100 1,200
B A - wasosams] ERETE | —k 0.75 508 500 500 500
x5k A - AR D3RS HREREIR| 0.7F 300 400
HETHERE PRl | % 3 2,815 2,800 i} —fi% 3 2,714 2,700 2,700 2,700
kAR 3 1,400 BEEE 3 1,800 2,200
44 — % 4 3,753 3,700 | roror| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
wH | R 3 2,815 2,800 & —fix 2 1,809 1,800 1,800 1,800
kKl 3 1,400 BERER| 2 1,500 1,600
REEE - wasossms] ERMEHE | —ik | 0.75 678 600 600 600
ARG K ERHOITHEY BRI 0.75 400 500
HSERE PR | R 3 3,284 3,200 Rl —fi% 3 3,166 3,100 3,100 3,100
MK 3 1,600 BERER| 3 2,100 2,600
4% — % 4 4,379 4300 | ruoOROFHRO| % 2 2,111 2,100 2,100 2,100
K] 4 2,150 BERER| 2 1,400 1,700
®H | & 3 3,284 3,200 & —fix 2 2,111 2,100 2,100 2,100
wEEAE 3 1,600 BERER| 2 1,700 1,900
REEE - wanosams] ERMEHE | —ik | 0.75 791 700 700 700
ARRER - ERHOITHEY BRI 0.75 500 600
HOEAER PR | R 3 4,692 4,600 PRl — % 3 4,524 4,500 4,500 4,500
MK 3 2,300 BERER| 3 3,000 3,700
4% — % 4 6,256 6,200 | FHEOROFHD| —ii 2 3,016 3,000 3,000 3,000
K 4 3,100 BERER| 2 2,000 2,500
®H | & 3 4,692 4,600 & —fix 2 3,016 3,000 3,000 3,000
HweEE] 3 2,300 BEEE| 2 2,500 2,700
R — A - wanosss] ERMEHE | —fik | 0.75 1,131 1,100 1,100 1,100
ARG K - ERHOITHEY BEEIE| 0.75 800 900
F1FN=E (=) T ik 3 1,642 1,600 i —fi% 3 1,583 1,500 1,500 1,500
HwekEEl 3 800 BEEE| 3 1,000 1,200
T | —ik 4 2,189 2,100 | ruoOROFHO| % 2 1,055 1,000 1,000 1,000
HEEE 4 1,050 BEEE 2 600 800
wE | R 3 1,642 1,600 & H —fi% 2 1,055 1,000 1,000 1,000
HwekEEl 3 800 BEEE| 2 800 900
R — A - wrnosss] ERMEHE | —fik | 0.75 395 300 300 300
ARG K - ERHOITHEY BEEIE| 0.75 200 200
WO PR 3 2,346 2,300 i — i 3 2,262 2,200 2,200 2,200
HwekEKl 3 1,150 BEEE 3 1,500 1,800
Ttk | 4 3,128 3,100 | ruorRvF®| —fi% 2 1,508 1,500 1,500 1,500
K| 4 1,550 BEEE 2 1,000 1,200
w’H | 3 2,346 2,300 wh — i 2 1,508 1,500 1,500 1,500
3 1,150 2 1,200 1,300
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AT % E
R R — | B 2 E | % - wRsosama| MR & |0.75 565 500 500 500
TG K - ERHOIEIEY BEKEA| 0.75 300 400
KR BRI} S 3 469 400 PRI .13 3 452 400 400 400
HERER| 3 200 BEEE 3 200 300
4% —fix 4 625 600 | FEORUFRO| —fi% 2 301 300 300 300
HERER| 4 300 BEEE 2 200 200
w | 3 469 400 &’ — % 2 301 300 300 300
HERER| 3 200 BEEE 2 200 200
R % - wRpoEEs| JERMAE | % | 0.75 113 100 100 100
XoTsils - ERHOITIEY BEEIE| 0.75 100 100
AV (AIPERER) | PR | —fi% 3 3,753 3,700 ER) —fi% 3 3,619 3,600 3,600 3,600
HERER| 3 1,850 BEEE 3 2,400 3,000
4% —fix 4 5,004 5000 | FOROFERD| —fik 2 2,412 2,400 2,400 2,400
HERER| 4 2,500 BEEE 2 1,600 2,000
w | 3 3,753 3,700 &’ —fi% 2 2,412 2,400 2,400 2,400
HERER| 3 1,850 BEEE 2 2,000 2,200
R % - wRsoEEs| JERMIE | % | 0.75 904 900 900 900
X Trils - ERHOITHEY BEEIE| 0.75 600 700
AVER CEMEM) | 7FAT | —fi 3 1,876 1,800 ER) —fi% 3 1,809 1,800 1,800 1,800
HERER| 3 900 BEEE 3 1,200 1,500
44 — % 4 2,502 2500 | rroOrOFHRO| % 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
®wH | & 3 1,876 1,800 R — 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
B A - wasosams] ERETE | —k | 0.75 452 400 400 400
x5k A - AR D3RS HREREIR| 0.7F 300 300
FHE S AR FU | ZFRT | —fi% 3 3,942 3,900 i} —fi% 3 3,801 3,800 3,800 3,800
HERER| 3 1,950 BEEE 3 2,500 3,100
44 — % 4 5,256 5,200 | FHOROFHD| —i 2 2,534 2,500 2,500 2,500
HERER| 4 2,600 BEEE 2 1,700 2,100
®wH | & 3 3,942 3,900 &I — % 2 2,534 2,500 2,500 2,500
kAR 3 1,950 BEEE 2 2,100 2,300
KR A - wasosams] ERETE | —k | 0.75 950 900 900 900
XoSrils - ERHOITEY BEEIE| 0.75 600 700
RHEE (WG ALL B | PR | —fi% 3 5,630 5,600 i} —fi% 3 5,428 5,400 5,400 5,400
HERER| 3 2,800 BEEE 3 3,600 4,500
4% — % 4 7,507 7,500 | FHOROFHD| —iE 2 3,619 3,600 3,600 3,600
EEE 4 3,750 BERER| 2 2,400 3,000
®H | & 3 5,630 5,600 & —fix 2 3,619 3,600 3,600 3,600
wEEAE 3 2,800 BERER| 2 3,000 3,300
REREE - wasosams] ERMEHE | —ik | 0.75 1,357 1,300 1,300 1,300
ARG K - ERHOITHEY BRI 0.75 900 1,100
REEESMER) | P | iR 3 13,192 13,000 PRl — % 3 10,357 10,000 10,000 10,000
wEEAE 3 6,500 BERER| 3 7,600 8,800
4% — % 4 26,384 26,000 | FEOROFHD| —fik 2 10,357 10,000 10,000 10,000
K 4 13,000 BERER| 2 7,600 8,800
®H | & 3 26,384 26,000 & — % 2 13,809 13,000 13,000 13,000
wEEAE 3 13,000 BERER| 2 13,000 13,000
REREE - wanosams] ERMEHE | —ik | 0.75 2,589 2,500 2,500 2,500
ARG K - ERHOITHEY BRI 0.75 2,100 2,300
HHE —fix 1 2,111 2,100 —fix 1 2,035 2,000 2,000 2,000
K 1 1,050 BERER 1 1,300 1,600
v — % 1 312 300 — % 1 301 300 300 300
AN E - 1 312 300 - 1 301 300 300 300
RHEER (2HEH) —f% 1 1,446 1,400 — % 1 1,438 1,400 1,400 1,400
K1 700 BEEE| 1 900 1,100
RBER CLEEM) —f% 1 723 700 — % 1 719 700 700 700
K1 350 BEEE| 1 500 600
e (1, 3T ) —f% 1 477 400 — % 1 474 500 500 500
K1 200 BEEE| 1 300 400
R (1, AT ) —f% 1 300 — % 1 359 400 400 400
K1 150 BEEE| 1 300 300
WP [ o — | 3R AR PR 3 2,500 i — % 3 3,166 2,700 2,900 3,100
HwekEEl 3 1,250 BEEE 3 1,800 2,400
T | —ik 4 4,379 4300 | ruorROEHRO| % 2 2,111 2,100 2,100 2,100
K| 4 2,150 BEEE 2 1,400 1,700
wH | R 3 3,284 3,200 & H —fix 2 2,111 2,100 2,100 2,100
HwekEKl 3 1,600 BEEE 2 1,700 1,900
EEfEE - wRpossms] EEMEAE | % |0.75 791 700 700 700
ERHOIEHEL 0.75 400 500
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PRI R 4 — | A4S S BRI} i 3 3,284 | * 2,500 PRI 814 3 3,166 2,700 2,900 3,100
HEEE 3 1,250 BEEK 3 1,800 2,400
Tk i 4 4,379 4300 | reorROrHRE| % 2 2,111 2,100 2,100 2,100
HERER| 4 2,150 BEEE 2 1,400 1,700
w | 3 3,284 3,200 & —fi% 2 2,111 2,100 2,100 2,100
HERER| 3 1,600 BEEE 2 1,700 1,900
R % - wRpoEEs| JERME | % | 0.75 791 700 700 700
X Trils - ERHOITIEY BEEIE| 0.75 400 500
WTREEEE) | PR | 3 3,167 | * 2,500 ER) —fi% 3 3,053 2,600 2,800 3,000
HERER| 3 1,250 BEEE 3 1,800 2,400
% —fix 4 4,222 4200 | FHEOROFEHD| —ii% 2 2,035 2,000 2,000 2,000
HEREE 4 2,100 BEEE 2 1,300 1,600
w | 3 3,167 3,100 &’ —fi% 2 2,035 2,000 2,000 2,000
HERER| 3 1,550 BEEE 2 1,700 1,800
R % - wRpoaEs| JERMIE | % | 0.75 763 700 700 700
X Trils - ERHOITHEY BEEIE| 0.75 400 500
EERYES TR M 3 938 | * 700 ER) —fix 3 904 700 800 900
HERER| 3 350 BEEE 3 500 700
4% —fix 4 1,251 1,200 | FHORVF#| —f% 2 603 600 600 600
HERER| 4 600 BEEE 2 400 500
®wH | & 3 938 900 R —f 2 603 600 600 600
WA 3 450 BEEE 2 500 500
B A - wasosams] ERETE | —k | 0.75 226 200 200 200
XoSrils - ERHOITEY BEEIE| 0.75 100 100
FARNE (R =) PRl | R 3 703 | * 500 TERiT — 3 678 500 500 600
kAR 3 250 BEEE 3 300 400
44 — % 4 938 900 | FEOROFHE| —f% 2 452 400 400 400
HERER| 4 450 BEEE 2 200 300
®wH | & 3 703 700 & IH — % 2 452 400 400 400
HERER| 3 350 BEEE 2 300 300
B A - wasosams] ERETE | —k 0.75 169 100 100 100
XoSrils - ERHOITEY BEEIE| 0.7 100 100
K= R M 3 234 | * 200 ZEHif — % 3 226 200 200 200
kAR 3 100 BEEE 3 100 100
44 — % 4 312 300 | FEOROFRD| —fik 2 150 100 100 100
HERER| 4 150 BEEE 2 100 100
wH | R 3 234 200 & —fix 2 150 100 100 100
kKl 3 100 BERER| 2 100 100
REEE - wasossms] ERMEHE | —ik | 0.75 56 100 100 100
ARRER ERHOITHEY BRI 0.75 100 100
LoyE—varE| PRl | i 3 1,876 | * 1,400 PRl — % 3 1,809 1,500 1,600 1,800
MK 3 700 BERER| 3 1,000 1,400
4% — % 4 2,502 2500 | raOROFHR| % 2 1,206 1,200 1,200 1,200
K] 4 1,250 BERER| 2 800 1,000
®H | & 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
wEEAE 3 900 BERER| 2 1,000 1,100
REEE - wanosams] ERMEHE | —ik | 0.75 452 400 400 400
ARRER - ERHOITHEY BRI 0.75 200 300
B IATFRAD | ZFRT | —f% 3 1,971 | * 1,500 ERil} —fi% 3 1,900 1,600 1,700 1,900
MK 3 750 BERER| 3 1,100 1,500
4% — % 4 2,628 2,600 | rOROFHR| % 2 1,267 1,200 1,200 1,200
K 4 1,300 BERER| 2 800 1,000
®H | & 3 1,971 1,900 & —fix 2 1,267 1,200 1,200 1,200
HweEE] 3 950 BEEE| 2 1,000 1,100
R — A - wanosss] ERMEHE | —fik | 0.75 475 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
FheE (2 AR B | FRT | A 3 2,815 | * 2,200 i — i 3 2,714 2,300 2,500 2,700
HwekEEl 3 1,100 BEEE| 3 1,600 2,100
T | —ik 4 3,753 3,700 | ruorRvFH| % 2 1,809 1,800 1,800 1,800
HEEE 4 1,850 BEEE 2 1,200 1,500
wE | R 3 2,815 2,800 & H —fi% 2 1,809 1,800 1,800 1,800
HwekEEl 3 1,400 BEEE| 2 1,500 1,600
R — A - wrnosss] ERMEHE | —fik | 0.75 678 600 600 600
IR | A% GRE - ERHOITHEY BEEIE| 0.75 400 500
TR PR 1 1,173 | 900 i — i 1 1,131 900 1,000 1,100
K1 450 BEEE| 1 600 800
T | —fk 1 1,173 1,100 T4 — i 1 1,131 1,100 1,100 1,100
K1 550 BEEE| 1 700 900
w’H | 1 1,173 1,100 wh — i 1 1,131 1,100 1,100 1,100
1 550 1 700 900
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BqOAT % E
PARHIRIR s 5 — |7 )38 PRl i 1 156 100 PRI 814 1 150 100 100 100
T | ik 1 156 100 1% — % 1 150 100 100 100
R 8.3 1 156 100 el 5.3 1 150 100 100 100
wEEGEEER) | P | 1 1,495 | * 900 i — 1 1,438 1,000 1,200 1,400
BEREE 1 450 BEREE| 1 700 1,000
k| 1 1,495 1,400 T4 — i 1 1,438 1,400 1,400 1,400
BEREE 1 700 BEREE| 1 900 1,100
&wH | 1 1,495 1,400 & IH —fi% 1 1,438 1,400 1,400 1,400
BEREE 1 700 BEREE| 1 900 1,100
REECRmEM) | Pl | % 1 747 700 i — i 1 719 500 600 700
BEREE 1 350 BEREE| 1 400 500
T4 — i 1 747 700 144 — i 1 719 700 700 700
BEREE 1 350 BEREE| 1 500 600
&wH | 1 747 700 & IH —fi% 1 719 700 700 700
BEREE 1 350 BEREE| 1 500 600
REEQ/SEEM) | PR | % 1 493 400 i — i 1 474 400 400 500
BEREE 1 200 BEREE| 1 300 400
T4 — i 1 493 400 Tt — i 1 474 500 500 500
BEREE 1 200 BEREE| 1 300 400
&I —fi% 1 493 400 A —fi% 1 474 500 500 500
BEEE 1 200 BEREE|] 1 300 400
Rty (L AmeEm) | PR | A% 1 373 300 i — i 1 359 300 300 400
BEEE 1 150 BEREE| 1 200 300
% —k 1 373 300 Tk —% 1 359 400 400 400
BEREE 1 150 BEREE|] 1 300 300
wH | 1 373 300 I —fi% 1 359 400 400 400
BEEE 1 150 BEREE| 1 300 300
Pt ek X e 5 — | 5 1 HE AR R | 3 2,346 | * 1,800 BBl —fi% 3 2,262 1,900 2,000 2,200
BEREE 3 900 BEEE 3 1,300 1,700
4% — i 4 3,128 3,100 | FOROF#D| —iE 2 1,508 1,500 1,500 1,500
BEER 4 1,550 BEEK 2 1,000 1,200
&I —fi% 3 2,346 2,300 AT —fi% 2 1,508 1,500 1,500 1,500
BEEE 3 1,150 BEEK 2 1,200 1,300
| — - wRpossaL] ERMEAE | % |0.75 565 500 500 500
ARG ERHOITIEY BRG] 0.75 300 400
FET | AR 3 1,876 | * 1,400 ER0) —fi% 3 1,809 1,500 1,600 1,800
e 3 700 wEEK| 3 1,000 1,400
Ttk 213 4 2,502 2500 | reorOFEO| % 2 1,206 1,200 1,200 1,200
BG4 1,250 BEEK| 2 800 1,000
el - 3 1,876 1,800 & 53 2 1,206 1,200 1,200 1,200
e 3 900 BEEK| 2 1,000 1,100
R ik - wERBOsERL] LR R i | 0.75 452 400 400 400
ARGRE - ERHOIBIEY MK 0.75 200 300
WIERE R} - 3 703 | * 500 F R 53 3 678 500 500 600
BEEE 3 250 wEEK| 3 300 400
Ttk 213 4 938 900 | FEORUFHE| % 2 452 400 400 400
BG4 450 BEEK| 2 200 300
el 213 3 703 700 el 5 2 452 400 400 400
BEEE 3 350 BEEK| 2 300 300
R ik - wERBOsEmL] LR R i | 0.75 169 100 100 100
ARGRE - ERHOIBIHEY MK 0.75 100 100
HAERE R} - 3 3,753 | * 3,000 F R 83 3 3,619 3,200 3,400 3,600
BEEE 3 1,500 wEEK| 3 2,200 2,900
ER" 23 4 5,004 5000 | FORUFHD| —f 2 2,412 2,400 2,400 2,400
BEER 4 2,500 wEEK| 2 1,600 2,000
] 23 3 3,753 3,700 el M 2 2,412 2,400 2,400 2,400
BEEE 3 1,850 wEEK| 2 2,000 2,200
iR ik - wERBOsERL]  ERAE R e 0.75 904 900 900 900
ARGRE - ERHOIBIEY HEEIK| 0.75 600 700
FoERE BRI} - 3 2,346 | * 1,800 ER) M 3 2,262 1,900 2,000 2,200
BEEE 3 900 wEEK| 3 1,300 1,700
ER" 23 4 3,128 3,100 | FOROTFHD| —Hk 2 1,508 1,500 1,500 1,500
BEER 4 1,550 wEEK| 2 1,000 1,200
] 23 3 2,346 2,300 el M 2 1,508 1,500 1,500 1,500
BEEE 3 1,150 wEEK| 2 1,200 1,300
e ik - ERBOERL] LR R e 10.75 565 500 500 500
HRGRE - ERHOIBIEY BEEIK| 0.75 300 400
1= BRI} i 3 1,173 | * 900 i M 3 1,131 900 1,000 1,100
BEEER 3 450 MK 3 600 800
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AT % E
Bl s R v — | 55 1 FLEE Tk R 4 1,564 1,500 | FEOROTRO| ik 2 754 700 700 700
HEREE 4 750 BEEK 2 400 500
& i 3 1,173 1,100 & .13 2 754 700 700 700
HERER| 3 550 BEEE 2 600 600
R % - wRpoEEs| JERME | % | 0.75 282 200 200 200
X Trils - ERHOITHEY BEEIE| 0.75 100 100
o= TR M 3 2,346 | * 1,800 ER) —fi% 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
4% —fix 4 3,128 3,100 | FHEORUFED| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
w | 3 2,346 2,300 &’ —fix 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
R % - wRpoEEs| JERME | % | 0.75 565 500 500 500
X Trils - ERHOITIEY BEEIE| 0.75 300 400
EERYES TR M 3 938 | * 700 ER) —fix 3 904 700 800 900
HERER| 3 350 BEEE 3 500 700
% —fix 4 1,251 1,200 | FHORVF#| —f% 2 603 600 600 600
HERER| 4 600 BEEE 2 400 500
w | 3 938 900 &’ — 2 603 600 600 600
HERER| 3 450 BEEE 2 500 500
B A - wasosams] ERETE | —k 0.75 226 200 200 200
XoSrils - ERHOITHEY BEEIE| 0.75 100 100
HAfn= PRl | ik 3 703 | * 500 TERiT — 3 678 500 500 600
HERER| 3 250 BEEE 3 300 400
44 — % 4 938 900 | FEOROFHE| —f% 2 452 400 400 400
HERER| 4 450 BEEE 2 200 300
®H | & 3 703 700 & IH — % 2 452 400 400 400
HERER| 3 350 BEEE 2 300 300
B A - wasosams] ERMAETE | —k 0.75 169 100 100 100
XoSrils - ERHOITEY BEEIE| 0.75 100 100
5= PRl | R 3 985 | * 700 TERiT — 3 950 700 800 900
kAR 3 350 BEEE 3 500 700
44 — % 4 1,314 1,300 | FHOROFHD| —fik 2 633 600 600 600
HERER| 4 650 BEEE 2 400 500
®H | & 3 985 900 R — 2 633 600 600 600
HERER| 3 450 BEEE 2 500 500
REREE - wanosams] ERMEHE | —ik | 0.75 339 200 200 300
ARG K - ERHOITHEY BRI 0.75 100 200
KR PR | R 3 469 400 PRl — % 3 452 400 400 400
wEEAE 3 200 BERER| 3 200 300
4% — % 4 625 600 | FEOROFHRE| —f% 2 301 300 300 300
HwaEE 4 300 BERER| 2 200 200
®H | & 3 469 400 & —fix 2 301 300 300 300
wEEAE 3 200 BERER| 2 200 200
REREE - wasosams] ERMEHE | —ik | 0.75 113 100 100 100
ARGKE - ERHOITHEY BRI 0.75 100 100
WlLsye—vars | PR | iR 3 1,055 | * 800 PRl — % 3 1,017 800 900 1,000
wEEAE 3 400 BERER| 3 600 800
4% — % 4 1,407 1,400 | FHOROFHD| —fik 2 678 600 600 600
K 4 700 BERER| 2 400 500
®H | & 3 1,055 1,000 & —fix 2 678 600 600 600
wekEEl 3 500 BERER| 2 500 500
REREE - wanossms] ERMEHE | —ik | 0.75 254 200 200 200
ARG K - ERHOITHEY BEEIE| 0.75 100 100
Horsyz—vavE | R | —iE 3 1,407 | * 1,000 i —fi% 3 1,357 1,100 1,200 1,300
HweEEl 3 500 BEEE 3 700 1,000
T | —ik 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
HEEE 4 900 BEEE| 2 600 700
wH | R 3 1,407 1,400 & H —fi% 2 904 900 900 900
HweEEl 3 700 BEEE 2 700 800
R — A - wrnosss] ERMEHE | —fik | 0.75 339 300 300 300
ARG K - ERHOITHEY BEEIE| 0.75 200 200
TR (LEMAD | Rl | —i% 3 2,346 | * 1,800 i — i 3 2,262 1,900 2,000 2,200
HwekEEl 3 900 BEEE 3 1,300 1,700
T | —ik 4 3,128 3,100 | ruoOrROFH| —fi% 2 1,508 1,500 1,500 1,500
K| 4 1,550 BEEE 2 1,000 1,200
wH | R 3 2,346 2,300 & H —fix 2 1,508 1,500 1,500 1,500
HwekEKl 3 1,150 BEEE 2 1,200 1,300
EEfEE - wRsossHas| 4E 56 R 565 500 500 500
ERHOIEHEL 300 400
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BT % E
e i e v — | T3598 (R | A fix 3 1,173 | * 900 PRI - 3 1,131 900 1,000 1,100
HEEE 3 450 BEEK 3 600 800
Tk fix 4 1,564 1,500 | FEORVTF#| —f% 2 754 700 700 700
HERER| 4 750 BEEE 2 400 500
w | 3 1,173 1,100 & —fix 2 754 700 700 700
HERER| 3 550 BEEE 2 600 600
R % - wRpoEEs| JERME | % | 0.75 282 200 200 200
X Trils - ERHOITIEY BEEIE| 0.75 100 100
B (4ARL TR | ZFRT | — % 3 2,956 | * 2,200 “Fi —fi% 3 2,851 2,400 2,600 2,800
HERER| 3 1,100 BEEE 3 1,600 2,200
% —fix 4 3,942 3,900 | FHEORFHD| —ii% 2 1,900 1,900 1,900 1,900
HERER| 4 1,950 BEEE 2 1,200 1,500
w | 3 2,956 2,900 &’ —fi% 2 1,900 1,900 1,900 1,900
HERER| 3 1,450 BEEE 2 1,600 1,700
R % - wRpoaEs| JERMIE | % | 0.75 712 600 600 700
X Trils - ERHOITHEY BEEIE| 0.75 400 500
B (5 ALLER) | FRT | — iR 3 4,222 | * 3,300 ER) —fix 3 4,071 3,500 3,700 4,000
HERER| 3 1,650 BEEE 3 2,400 3,200
4% —fix 4 5,630 5600 | FEOROFRD| —fik 2 2,714 2,700 2,700 2,700
HERER| 4 2,800 BEEE 2 1,800 2,200
®wH | & 3 4,222 4,200 & IH — % 2 2,714 2,700 2,700 2,700
WA 3 2,100 BERER| 2 2,300 2,500
B A - wasosams] ERETE | —k | 0.75 1,017 900 900 1,000
XoSrils - ERHOITEY BEEIE| 0.75 600 800
[T TES PR | 3 2,346 2,300
kAR 3 1,150
g | 4 3,128 3,100
HERER| 4 1,550
®wH | & 3 2,346 2,300 —f 1 890 800 800 800
HERER| 3 1,150 BEEE 1 800 800
e —fi - ERHOITIHEY
x5k A - ERHOEEY
A PR 1 1,876 | * 1,400 ERi] — 1 1,809 1,500 1,600 1,800
HERER 1 700 BEEE 1 1,000 1,400
| 1 1,876 1,800 R4 — 1 1,809 1,800 1,800 1,800
AR 1 900 BEEE 1 1,200 1,500
| i 1 1,876 1,800 il —fi% 1 1,809 1,800 1,800 1,800
K 1 900 BERER| 1 1,200 1,500
RE=(@EER) | P | iR 1 373 300 PRl — % 1 359 300 300 300
K 1 150 BERER 1 200 200
g | —M 1 373 300 4 1 359 300 300 300
K1 150 1 200 200
U 4 1 373 300 & 1 359 300 300 300
K1 150 1 200 200
R R s — | 5 1 HE S PR | i 3 1,407 | * 1,000 ZEHif 3 1,357 1,100 1,200 1,300
wekEEl 3 500 3 700 1,000
k| — 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
waEE 4 900 BERER| 2 600 700
U 3 3 1,407 1,400 & —fix 2 904 900 900 900
kKl 3 700 2 700 800
REEE wasosams] ERMEHE | —ik | 0.75 339 300 300 300
ARG K - ERHOITHEY BRI 0.75 200 200
HRRE PR | R 3 469 400 Rl —fi% 3 452 400 400 400
HweEE] 3 200 BEEE| 3 200 300
T | —Rk 4 625 600 | FEOROFHE| —f% 2 301 300 300 300
HEEE 4 300 BEEE 2 200 200
®H | 3 469 400 & H —fi% 2 301 300 300 300
HwekEEl 3 200 BEEE| 2 200 200
e — - wrnosss] ERMEHE | —fik | 0.75 113 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
W3R R 3 469 400 i — % 3 452 400 400 400
HwekEEl 3 200 BEEE 3 200 300
T | —ik 4 625 600 | FEOROFHE| —f% 2 301 300 300 300
HEEE 4 300 BEEE| 2 200 200
®H | 3 469 400 & H —fi% 2 301 300 300 300
HwekEKl 3 200 BEEE 2 200 200
g — - wrnosams] ERMEME | —fk | 0.75 113 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
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AT % E
R R v — | A A BRI} S 3 1,173 | * 900 PRI 814 3 1,131 900 1,000 1,100
HEEE 3 450 BEEK 3 600 800
Tk fix 4 1,564 1,500 | FEORVTF#| —f% 2 754 700 700 700
HERER| 4 750 BEEE 2 400 500
w | 3 1,173 1,100 & —fix 2 754 700 700 700
HERER| 3 550 BEEE 2 600 600
R % - wRpoEEs| JERME | % | 0.75 282 200 200 200
X Trils - ERHOITIEY BEEIE| 0.75 100 100
H8ERE TR | M 3 2,815 | * 2,200 PRI — 3 2,714 2,300 2,500 2,700
HERER| 3 1,100 BEEE 3 1,600 2,100
% —fix 4 3,753 3,700 | FHEORUFHD| —ii% 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
w | 3 2,815 2,800 &’ —fi% 2 1,809 1,800 1,800 1,800
HERER| 3 1,400 BEEE 2 1,500 1,600
R % - wRpoaEs| JERMIE | % | 0.75 678 600 600 600
X Trils - ERHOITHEY BEEIE| 0.75 400 500
HIERE TR M 3 2,815 | * 2,200 PRI — % 3 2,714 2,300 2,500 2,700
HERER| 3 1,100 BEEE 3 1,600 2,100
4% —fix 4 3,753 3,700 | FHEORUFHD| —ii% 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R —f 2 1,809 1,800 1,800 1,800
WA 3 1,400 BEEE 2 1,500 1,600
B A - wasosams] ERETE | —k | 0.75 678 600 600 600
XoSrils - ERHOITEY BEEIE| 0.75 400 500
HI0ERE PRl | R 3 2,815 | * 2,200 TERiT — 3 2,714 2,300 2,500 2,700
kAR 3 1,100 BEEE 3 1,600 2,100
44 — % 4 3,753 3,700 | rororn| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R —f 2 1,809 1,800 1,800 1,800
HERER| 3 1,400 BEEE 2 1,500 1,600
B A - wasosams] ERETE | —k 0.75 678 600 600 600
x5k A - AR D3RS HREREIR| 0.7F 400 500
FIFE R =) PRl | ik 3 703 | * 500 TERiT — 3 678 500 500 600
kAR 3 250 BEEE 3 300 400
44 — % 4 938 900 | FEOROFHE| —f% 2 452 400 400 400
HERER| 4 450 BEEE 2 200 300
wH | R 3 703 700 & —fix 2 452 400 400 400
kKl 3 350 BERER| 2 300 300
REEE - wasossms] ERMEHE | —ik | 0.75 169 100 100 100
ARRER ERHOITHEY BRI 0.75 100 100
HAFI= PR | R 3 703 | * 500 PRl — % 3 678 500 500 600
weEE 3 250 BERER| 3 300 400
4% — % 4 938 900 | FEOROFHRE| —fi% 2 452 400 400 400
K] 4 450 BERER| 2 200 300
®H | & 3 703 700 & —fix 2 452 400 400 400
wEEAE 3 350 BERER| 2 300 300
REEE - wanosams] ERMEHE | —ik | 0.75 169 100 100 100
ARRER - ERHOITHEY BRI 0.75 100 100
5= (k=) PR | R 3 703 | * 500 PRl — % 3 678 500 500 600
MK 3 250 BERER| 3 300 400
4% — % 4 938 900 | FEOROFHE| —f% 2 452 400 400 400
K 4 450 BERER| 2 200 300
®H | & 3 703 700 & —fix 2 452 400 400 400
HweEE] 3 350 BEEE| 2 300 300
R — A - wanosss] ERMEHE | —fik | 0.75 169 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
Kz (1) R ik 3 469 400 Rl — % 3 452 400 400 400
HwekEEl 3 200 BEEE| 3 200 300
T | —ik 4 625 600 | FEORUFHE| —f% 2 301 300 300 300
HEEE 4 300 BEEE 2 200 200
wE | R 3 469 400 & H —fi% 2 301 300 300 300
HwekEEl 3 200 BEEE| 2 200 200
R — A - wrnosss] ERMEHE | —fik | 0.75 113 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
KR (2) R ik 3 234 200 Rl — % 3 226 200 200 200
HwekEKl 3 100 BEEE 3 100 100
T | —fk 4 312 300 | FEOROFRD| —fik 2 150 100 100 100
K| 4 150 BEEE 2 100 100
w®H | & 3 234 200 il —fi% 2 150 100 100 100
3 100 2 100 100
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AT % E
Sk R o — | KRR (2) e i - wRsoEEs| AE R AR &% | 0.75 56 100 100 100
TG K - ERHOIEIEY BEEIE| 0.75 100 100
TS (LM | Pl i 3 3,284 | * 2,500 PRI .13 3 3,166 2,700 2,900 3,100
HERER| 3 1,250 BEEE 3 1,800 2,400
4% —fix 4 4,379 4300 | FHEOROFED| —ii% 2 2,111 2,100 2,100 2,100
HERER| 4 2,150 BEEE 2 1,400 1,700
w | 3 3,284 3,200 &’ —fi% 2 2,111 2,100 2,100 2,100
HERER| 3 1,600 BEEE 2 1,700 1,900
R % - wRpoEEs| JERMAE | % | 0.75 791 700 700 700
XoTsils - ERHOITIEY BEEIE| 0.75 400 500
TEEERERN | A | 3 1,642 | 1,200 ER) —fi% 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
4% —fix 4 2,189 2,100 | FHEOROFEHD| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
w | 3 1,642 1,600 &’ —fi% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRsoEEs| JERMIE | % | 0.75 395 300 300 300
X Trils - ERHOITHEY BEEIE| 0.75 200 200
FHE ARFUI | ZFRT | —fi% 3 2,628 | * 2,100 ER) —fi% 3 2,533 2,200 2,300 2,500
HERER| 3 1,050 BEEE 3 1,500 2,000
44 — % 4 3,504 3500 | rorvr®| —f% 2 1,688 1,600 1,600 1,600
HERER| 4 1,750 BEEE 2 1,100 1,300
®wH | & 3 2,628 2,600 R — 2 1,688 1,600 1,600 1,600
HERER| 3 1,300 BEEE 2 1,400 1,500
B A - wasosams] ERETE | —k | 0.75 633 600 600 600
x5k A - AR D3RS HREREIR| 0.7F 400 500
B (AL | ZFRT | — 3 3,753 | * 3,000 ZEHif — i 3 3,619 3,200 3,400 3,600
HERER| 3 1,500 BEEE 3 2,200 2,900
44 — % 4 5,004 5,000 | FHOROFHD| —i 2 2,412 2,400 2,400 2,400
HERER| 4 2,500 BEEE 2 1,600 2,000
®wH | & 3 3,753 3,700 &I — % 2 2,412 2,400 2,400 2,400
kAR 3 1,850 BEEE 2 2,000 2,200
KR A - wasosams] ERETE | —k | 0.75 904 900 900 900
XoSrils - ERHOITEY BEEIE| 0.75 600 700
[:SEIES PRl | ik 3 3,284 3,200
HERER| 3 1,600
P4 — % 4 4,379 4,300
EEE 4 2,150
®H | & 3 3,284 3,200 —fix 1 890 800 800 800
wEEAE 3 1,600 BERER 1 800 800
Ef | —i% - EAKH OIS
BREREA - ERHOFEY
EAREE S PR | R 1 1,876 | * 1,400 Rl —fi% 1 1,809 1,500 1,600 1,800
K 1 700 BERER 1 1,000 1,400
P4 —fix 1 1,876 1,800 4 —fi% 1 1,809 1,800 1,800 1,800
w1 900 BERER 1 1,200 1,500
®H | & 1 1,876 1,800 & —fix 1 1,809 1,800 1,800 1,800
HwEEE 1 900 BERER| 1 1,200 1,500
BoERE PR | R 1 821 | * 700 Rl — i 1 791 700 700 700
K 1 350 BERER 1 400 500
P4 — i 1 821 800 P4 — % 1 791 700 700 700
K1 400 BERER 1 500 600
®H | & 1 821 800 & —fix 1 791 700 700 700
K1 400 BEEE| 1 500 600
RER(EEER) | P | 1 747 | % 500 i — i 1 719 500 600 700
K1 250 BEEE| 1 400 500
T | ik 1 747 700 T4 — i 1 719 700 700 700
K1 350 BEEE| 1 400 500
wH | R 1 747 700 & H —fi% 1 719 700 700 700
K1 350 BEEE| 1 400 500
RERCEREM) | FaT | 1 373 300 i — % 1 359 300 300 400
K1 150 BEEE| 1 200 300
T | ik 1 373 300 Tt — i 1 359 400 400 400
K1 150 BEEE| 1 200 300
wH | R 1 373 300 & H —fi% 1 359 400 400 400
K1 150 BEEE| 1 200 300
KRR s — | 5 1R R | 3 2,346 | * 1,800 FRil —fix 3 2,262 1,900 2,000 2,200
3 900 BEEE 3 1,300 1,700
4 3,128 3,100 | ruorR0F®| % 2 1,508 1,500 1,500 1,500
4 1,550 2 1,000 1,200
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AT % E
AR R — | B RN & S 3 2,346 2,300 & 814 2 1,508 1,500 1,500 1,500
HEEE 3 1,150 BEEK 2 1,200 1,300
R % - wRposEs| AR AR f% | 0.75 565 500 500 500
X Trils - ERHOITIEY BEEIE| 0.75 300 400
FoERE TR M 3 2,346 | * 1,800 PRI — 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
% —fix 4 3,128 3,100 | FHEORUFED| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
w | 3 2,346 2,300 &’ —fix 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
R % - wRpoEEs| JERME | % | 0.75 565 500 500 500
X Trils - ERHOITHEY BEEIE| 0.75 300 400
FIERE TR | M 3 2,346 | * 1,800 PRI — 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
4% —fix 4 3,128 3,100 | FHEORFED| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
wH | & 3 2,346 2,300 &’ —fix 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
R % - wRsoEEs| JERME | % | 0.75 565 500 500 500
XoSrils - EAHOEIEY HBEEIE| 0.7F 300 400
HABDER PRl | R 3 4,692 | * 3,700 TERiT — 3 4,524 3,900 4,200 4,500
WA 3 1,850 BEEE 3 2,700 3,600
44 — % 4 6,256 6,200 | FHOROFHD| —ii% 2 3,016 3,000 3,000 3,000
HERER| 4 3,100 BEEE 2 2,000 2,500
®H | & 3 4,692 4,600 &I — % 2 3,016 3,000 3,000 3,000
kAR 3 2,300 BEEE 2 2,500 2,700
KR A - wasosams] ERMETE | —k 0.75 1,131 1,100 1,100 1,100
XoSrils - ERHOITHEY BEEIE| 0.75 700 900
HHEAER PRl | ik 3 2,346 | * 1,800 TERiT — 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
44 — % 4 3,128 3,100 | roror®E| —i% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
®wH | & 3 2,346 2,300 R — 2 1,508 1,500 1,500 1,500
kAR 3 1,150 BEEE 2 1,200 1,300
KR A - wasosams] ERETE | —k 0.75 565 500 500 500
XoSrils ERHOITHEY BEEIE| 0.75 300 400
HOHERE PR | R 3 2,111 | * 1,600 Rl —fi% 3 2,035 1,700 1,800 2,000
kKl 3 800 BERER| 3 1,200 1,600
4% — % 4 2,815 2800 | roOrROFHRO| % 2 1,357 1,300 1,300 1,300
waEE 4 1,400 BERER| 2 900 1,100
®H | & 3 2,111 2,100 & —fix 2 1,357 1,300 1,300 1,300
MK 3 1,050 BERER| 2 1,100 1,200
REEE - wanosams] ERMEHE | —ik | 0.75 508 400 400 500
ARG K - ERHOITHEY BRI 0.75 300 400
WTHRRE PR | R 3 469 400 Rl —fi% 3 452 400 400 400
wEEAE 3 200 BERER| 3 200 300
4% — % 4 625 600 | FEOROFHE| —f% 2 301 300 300 300
waEE 4 300 BERER| 2 200 200
®H | & 3 469 400 & —fix 2 301 300 300 300
MK 3 200 BERER| 2 200 200
REEE wasosams] ERMEHE | —ik | 0.75 113 100 100 100
ARG K - ERHOITHEY BRI 0.75 100 100
R (Eas | FAT | i 3 2,346 | * 1,800 i —fi% 3 2,262 1,900 2,000 2,200
LRt wEEE| 3 900 w3 1,300 1,700
Ttk | 4 3,128 3,100 | ruoOrROFH| —fi% 2 1,508 1,500 1,500 1,500
HEEE 4 1,550 BEEE 2 1,000 1,200
wE | R 3 2,346 2,300 & H —fi% 2 1,508 1,500 1,500 1,500
HwekEEl 3 1,150 BEEE| 2 1,200 1,300
R — A - wrnosss] ERMEHE | —fik | 0.75 565 500 500 500
ARG K - ERHOITHEY BEEIE| 0.75 300 400
s (Eas | FRT | 3 1,173 | = 900 i — i 3 1,131 900 1,000 1,100
AL EA) wEEE 3 450 w3 600 800
T | —ik 4 1,564 1,500 | FHOROFHD| —fik 2 754 700 700 700
HEEE 4 750 BEEE| 2 400 500
wH | R 3 1,173 1,100 & H —fi% 2 754 700 700 700
HwekEKl 3 550 BEEE 2 600 600
g — - wrnosams] ERMEME | —fk | 0.75 282 200 200 200
ARG K - ERHOITHEY BEEIE| 0.75 100 100
o= R ik 3 1,876 | * 1,400 i — i 3 1,809 1,500 1,600 1,800
3 700 3 1,000 1,400
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AT % E
KRR e o — | 55 2 Ttk 83 4 2,502 2500 | rOrROHR| % 2 1,206 1,200 1,200 1,200
HEREE 4 1,250 BEEK 2 800 1,000
& i 3 1,876 1,800 & .13 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
e - wRpoEEs| JERME | % | 0.75 452 400 400 400
X Trils - ERHOITHEY BEEIE| 0.75 200 300
ARV IES TR M 3 1,876 | * 1,400 ER) —fi% 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
4% —fix 4 2,502 2,500 | FHEOROFED| —ii% 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
w | 3 1,876 1,800 &’ —fi% 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
e - wRpoEEs| JERME | % | 0.75 452 400 400 400
X Trils - ERHOITIEY BEEIE| 0.75 200 300
FATE (k=) TR M 3 938 | * 700 ER) —fix 3 904 700 800 900
HERER| 3 350 BEEE 3 500 700
% —fix 4 1,251 1,200 | FHORVF#| —f% 2 603 600 600 600
HERER| 4 600 BEEE 2 400 500
w | 3 938 900 &’ — 2 603 600 600 600
HERER| 3 450 BEEE 2 500 500
B A - wasosams] ERETE | —k 0.75 452 200 300 400
XoSrils - ERHOITHEY BEEIE| 0.75 200 300
KE R M 3 234 200 Gt — 3 226 200 200 200
HERER| 3 100 BEEE 3 100 100
44 — % 4 312 300 | FEOROFRD| —fik 2 150 100 100 100
HERER| 4 150 BEEE 2 100 100
®H | & 3 234 200 R — 2 150 100 100 100
HERER| 3 100 BEEE 2 100 100
B A - wasosams] ERMAETE | —k 0.75 56 100 100 100
XoSrils - ERHOITEY BEEIE| 0.75 100 100
T (TEER) | Fal | — i 3 3,284 | * 2,500 TERiT — 3 3,166 2,700 2,900 3,100
kAR 3 1,250 BEEE 3 1,800 2,400
44 — % 4 4,379 4300 | roOrROFHRO| % 2 2,111 2,100 2,100 2,100
HERER| 4 2,150 BEEE 2 1,400 1,700
®H | & 3 3,284 3,200 R — 2 2,111 2,100 2,100 2,100
HERER| 3 1,600 BEEE 2 1,700 1,900
REREE - wanosams] ERMEHE | —ik | 0.75 791 700 700 700
ARG K - ERHOITHEY BRI 0.75 400 500
TR EREM) | Fal | — ik 3 1,642 | * 1,200 PRl — % 3 1,583 1,300 1,400 1,500
wEEAE 3 600 BERER| 3 900 1,200
4% — % 4 2,189 2,100 | ruorROFHRO| % 2 1,055 1,000 1,000 1,000
HwaEE 4 1,050 BERER| 2 600 800
®H | & 3 1,642 1,600 & —fix 2 1,055 1,000 1,000 1,000
wEEAE 3 800 BERER| 2 800 900
REREE - wasosams] ERMEHE | —ik | 0.75 791 400 500 700
ARGKE - ERHOITHEY BRI 0.75 300 500
B IAFRAD | ZFRT | —f% 3 3,285 | * 2,500 ERil} —fi% 3 3,166 2,700 2,900 3,100
wEEAE 3 1,250 BERER| 3 1,800 2,400
4% — % 4 4,380 4300 | raoOROFHRO| % 2 2,111 2,100 2,100 2,100
K 4 2,150 BERER| 2 1,400 1,700
®H | & 3 3,285 3,200 & —fix 2 2,111 2,100 2,100 2,100
wekEEl 3 1,600 BERER| 2 1,700 1,900
REREE - wanossms] ERMEHE | —ik | 0.75 791 700 700 700
ARG K - ERHOITHEY BEEIE| 0.75 400 500
FhE (2T | ZFRT | —fi 3 4,692 | * 3,700 i — i 3 4,524 3,900 4,200 4,500
HweEEl 3 1,850 BEEE 3 2,700 3,600
T | —ik 4 6,256 6,200 | FHEOROFHD| —ii 2 3,016 3,000 3,000 3,000
HEEE 4 3,100 BEEE| 2 2,000 2,500
wH | R 3 4,692 4,600 & H — % 2 3,016 3,000 3,000 3,000
HweEEl 3 2,300 BEEE 2 2,500 2,700
R — A - wrnosss] ERMEHE | —fik | 0.75 1,131 1,100 1,100 1,100
ARG K - ERHOITHEY BEEIE| 0.75 700 900
[STEIES R ik 3 4,692 4,600
HwekEEl 3 2,300
T | ik 4 6,256 6,200
K| 4 3,100
wH | R 3 4,692 4,600 — i 1 890 800 800 800
HwekEKl 3 2,300 BEEE| 1 800 800
EREE| —i% - EAKHOEAY
EREOIEIEY
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AT % E
AR R — | B ]S BRI} i 1 1,642 | * 1,200 PRI 814 1 1,583 1,300 1,400 1,500
HERER| 1 600 BEEK 1 900 1,200
Tk i 1 1,642 1,600 TPt .13 1 1,583 1,500 1,500 1,500
HERER| 1 800 BEEE 1 1,000 1,200
w | 1 1,642 1,600 & —fix 1 1,583 1,500 1,500 1,500
HERER 1 800 BEEE 1 1,000 1,200
2 HE TR M 1 1,055 | 800 PRI — % 1 1,017 800 900 1,000
HEREE 1 400 BEEE 1 600 800
4% — % 1 1,055 1,000 R —fi% 1 1,017 1,000 1,000 1,000
HERER 1 500 BEEE 1 600 800
w | 1 1,055 1,000 &’ —fi% 1 1,017 1,000 1,000 1,000
HERER 1 500 BEEE 1 600 800
REE(EmEM) | A | R 1 373 300 ER) —fi% 1 359 300 300 300
HERER| 1 150 BEEE 1 200 200
4% — % 1 373 300 R —fi% 1 359 300 300 300
HERER 1 150 BEEE 1 200 200
w | 1 373 300 &’ —fi% 1 359 300 300 300
HERER 1 150 BEEE 1 200 200
IREHIR I Rt 5 — | B 1 AR TR | M 3 2,815 | * 2,200 PRI — 3 2,714 2,300 2,500 2,700
HERER| 3 1,100 BEEE 3 1,600 2,100
44 — % 4 3,753 3,700 | rorvr®| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R — 2 1,809 1,800 1,800 1,800
HERER| 3 1,400 BEEE 2 1,500 1,600
B A - wasosams] ERETE | —k | 0.75 678 600 600 600
x5k A - AR D3RS HREREIR| 0.7F 400 500
HoEAER PRl | ik 3 2,815 | * 2,200 TERiT — 3 2,714 2,300 2,500 2,700
HERER| 3 1,100 BEEE 3 1,600 2,100
44 — % 4 3,753 3,700 | rorvr®| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R —f 2 1,809 1,800 1,800 1,800
kAR 3 1,400 BEEE 2 1,500 1,600
KR A - wasosams] ERETE | —k | 0.75 678 600 600 600
XoSrils - ERHOITEY BEEIE| 0.75 400 500
HIEAER PRl | ik 3 2,346 | * 1,800 TERiT — 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
4% — % 4 3,128 3,100 | rorvr®| —fi% 2 1,508 1,500 1,500 1,500
EEE 4 1,550 BERER| 2 1,000 1,200
®H | & 3 2,346 2,300 & —fix 2 1,508 1,500 1,500 1,500
wEEAE 3 1,150 BERER| 2 1,200 1,300
REREE - wasosams] ERMEHE | —ik | 0.75 565 500 500 500
AKER - ERHOITHEY BRI 0.75 300 400
HARRE PR | R 3 2,111 | * 1,600 Rl —fi% 3 2,035 1,700 1,800 2,000
wEEAE 3 800 BERER| 3 1,200 1,600
4% — % 4 2,815 2800 | ruorROFHRO| —fi% 2 1,357 1,300 1,300 1,300
K 4 1,400 BERER| 2 900 1,100
®H | & 3 2,111 2,100 & —fix 2 1,357 1,300 1,300 1,300
wEEAE 3 1,050 BERER| 2 1,100 1,200
REREE - wanosams] ERMEHE | —ik | 0.75 508 400 400 500
ARG K - ERHOITHEY BRI 0.75 300 400
HORRE PR | R 3 2,111 | * 1,600 Rl —fi% 3 2,035 1,700 1,800 2,000
wekEEl 3 800 BERER| 3 1,200 1,600
4% — % 4 2,815 2800 | ruoOrROFHRO| —fi% 2 1,357 1,300 1,300 1,300
BEEE 4 1,400 BEEE| 2 900 1,100
wE | R 3 2,111 2,100 & H —fi% 2 1,357 1,300 1,300 1,300
HweEEl 3 1,050 BEEE 2 1,100 1,200
R — A - wrnosss] ERMEHE | —fik | 0.75 508 400 400 500
ARG K - ERHOITHEY BEEIE| 0.75 300 400
HeEAER PR 3 2,346 | * 1,800 i — i 3 2,262 1,900 2,000 2,200
HweEEl 3 900 BEEE 3 1,300 1,700
T | —ik 4 3,128 3,100 | ruoOrR0FH| —fi% 2 1,508 1,500 1,500 1,500
HEEE 4 1,550 BEEE| 2 1,000 1,200
wH | R 3 2,346 2,300 & H —fi% 2 1,508 1,500 1,500 1,500
HwekEEl 3 1,150 BEEE| 2 1,200 1,300
R — A - wrnosss] ERMEHE | —fik | 0.75 565 500 500 500
ARG K - ERHOITHEY BEEIE| 0.75 300 400
HETHERE ERT | 3 1,876 | * 1,400 i — i 3 1,809 1,500 1,600 1,800
HwekEKl 3 700 BEEE 3 1,000 1,400
Ttk | 4 2,502 2500 | ruOROFHRO| % 2 1,206 1,200 1,200 1,200
4 1,250 2 800 1,000
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AT % E
IREHIRIC R s — | B TAR & S 3 1,876 1,800 & 814 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEK 2 1,000 1,100
R % - wRposEs| AR AR f% | 0.75 452 400 400 400
X Trils - ERHOITIEY BEEIE| 0.75 200 300
1= PR | % 3 1,642 | 1,200 ER) —fi% 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
% —fix 4 2,189 2,100 | FHEORFED| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
w | 3 1,642 1,600 ! —fi% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRpoEEs| JERME | % | 0.75 395 300 300 300
X Trils - ERHOITHEY BEEIE| 0.75 200 200
F2nE (k=) TR | M 3 938 | * 700 ER) —fix 3 904 700 800 900
HERER| 3 350 BEEE 3 500 700
4% —fix 4 1,251 1,200 | FHORVF#| —f% 2 603 600 600 600
HERER| 4 600 BEEE 2 400 500
w | 3 938 900 ! —fi% 2 603 600 600 600
HERER| 3 450 BEEE 2 500 500
R % - wRsoEEs| JERME | % | 0.75 226 200 200 200
XoSrils - ERHOITIEY BEEIE| 0.75 100 100
HaRER (ae | PR | 3 2,815 | * 2,200 ERin) —fi% 3 2,714 2,300 2,500 2,700
LSRR ey wREK 3 1,100 wirEk| 3 1,600 2,100
44 — % 4 3,753 3,700 | rororm| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®H | & 3 2,815 2,800 [ —f 2 1,809 1,800 1,800 1,800
kAR 3 1,400 BEEE 2 1,500 1,600
KR A - wasosams] ERMETE | —k 0.75 678 600 600 600
XoSrils - ERHOITHEY BEEIE| 0.75 400 500
HafER (he | PR | 3 1,642 | * 1,200 ERin) —fi% 3 1,583 1,300 1,400 1,500
AL g E wREK 3 600 wirEk| 3 900 1,200
44 — % 4 2,189 2,100 | rorOFHRO| % 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
®wH | & 3 1,642 1,600 R — 2 1,055 1,000 1,000 1,000
kAR 3 800 BEEE 2 800 900
KR A - wasosams] ERETE | —k 0.75 395 300 300 300
XoSrils ERHOITHEY BEEIE| 0.75 200 200
HAF= PR | R 3 2,346 | * 1,800 PRl — % 3 2,262 1,900 2,000 2,200
kKl 3 900 BERER| 3 1,300 1,700
4% — % 4 3,128 3,100 | ror0r®| —fi% 2 1,508 1,500 1,500 1,500
waEE 4 1,550 BERER| 2 1,000 1,200
®H | & 3 2,346 2,300 & —fix 2 1,508 1,500 1,500 1,500
MK 3 1,150 BERER| 2 1,200 1,300
REEE - wanosams] ERMEHE | —ik | 0.75 565 500 500 500
ARG K - ERHOITHEY BRI 0.75 300 400
PR Ui = PR | R 3 1,876 | * 1,400
wekEEl 3 700
4% —f 4 2,502 2,500
BREE 4 1,250 Fri2741 A1 BELE
®H | & 3 1,876 1,800
kKl 3 900
e —i% EAKH OIS
HRERER - ERHOIEEY
KR PR | R 3 234 200 PRl — % 3 226 200 200 200
HweEE] 3 100 BEEE| 3 100 100
Fte | 4 312 300 | FEOROFHD| —fik 2 150 100 100 100
HEEE 4 150 BEEE 2 100 100
wE | R 3 234 200 & H —fi% 2 150 100 100 100
HwekEEl 3 100 BEEE| 2 100 100
R — A - wrnosss] ERMEHE | —fik | 0.75 56 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
TS (LEMAD | Rl | —i% 3 2,815 | * 2,200 i — i 3 2,714 2,300 2,500 2,700
HwekEEl 3 1,100 BEEE 3 1,600 2,100
T | —ik 4 3,753 3,700 | ruorRvEH| % 2 1,809 1,800 1,800 1,800
HEEE 4 1,850 BEEE| 2 1,200 1,500
wH | R 3 2,815 2,800 & H —fi% 2 1,809 1,800 1,800 1,800
HwekEKl 3 1,400 BEEE 2 1,500 1,600
g — - wrnosams] ERMEME | —fk | 0.75 678 600 600 600
ARG K - ERHOITHEY BEEIE| 0.75 400 500
TEEEERMEA) | Rl | ik 3 1,407 | * 1,000 i — i 3 1,357 1,100 1,200 1,300
3 500 3 700 1,000
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R R — | T35 (SRR M) | 7% A 4 1,876 1,800 | rOROFRO| K 2 904 900 900 900
HERER| 4 900 BEEK 2 600 700
& i 3 1,407 1,400 & .13 2 904 900 900 900
HERER| 3 700 BEEE 2 700 800
R % - wRpoEEs| JERME | % | 0.75 339 300 300 300
X Trils - ERHOITHEY BEEIE| 0.75 200 200
BHEERE AL PR | ZFRT | 3 3,613 | * 2,800 ER) —fi% 3 3,483 3,000 3,200 3,400
HERER| 3 1,400 BEEE 3 2,000 2,700
4% —fix 4 4,818 4,800 | FHEORDFHD| —ii% 2 2,322 2,300 2,300 2,300
HERER| 4 2,400 BEEE 2 1,500 1,900
w | 3 3,613 3,600 ! —fi% 2 2,322 2,300 2,300 2,300
HERER| 3 1,800 BEEE 2 1,900 2,100
R % - wRpoEEs| JERME | % | 0.75 870 800 800 800
X Trils - ERHOEIEY BEEA| 0.75 500 600
B (5AL R | ZFRT | — A% 3 5,161 | * 3,900 “Fi —fi% 3 4,976 4,200 4,500 4,900
HERER| 3 1,950 BEEE 3 2,900 3,900
% —fix 4 6,881 6,800 | FOROFRD| —fi% 2 3,317 3,300 3,300 3,300
HERER| 4 3,400 BEEE 2 2,200 2,700
w | 3 5,161 5,100 ! —fi% 2 3,317 3,300 3,300 3,300
HERER| 3 2,550 BEEE 2 2,800 3,000
B A - wasosams] ERETE | —k 0.75 1,244 1,100 1,100 1,200
XoSrils - ERHOITHEY BEEIE| 0.75 700 900
[:SEIES PRl | ik 3 3,753 3,700
HERER| 3 1,850
4% — i 4 5,004 5,000
HERER| 4 2,500
®H | & 3 3,753 3,700 — 1 890 800 800 800
HERER| 3 1,850 BEEE 1 800 800
e —fi - ERHOIBIHEY
xR GRE fA ERHOEEY
BLEARE PRl | R 1 1,055 | * 800 i — 1 1,017 800 900 1,000
HERER 1 400 BEEE 1 600 800
44 — % 1 1,055 1,000 LS —fi% 1 1,017 1,000 1,000 1,000
HERER 1 500 BEEE 1 600 800
®H | & 1 1,055 1,000 R — 1 1,017 1,000 1,000 1,000
AR 1 500 BEEE 1 600 800
HOHAR PR | R 1 1,876 | * 1,400 PRl — % 1 1,809 1,500 1,600 1,800
K 1 700 BERER| 1 1,000 1,400
P4 — i 1 1,876 1,800 P4 — % 1 1,809 1,800 1,800 1,800
HwEEE 1 900 BERER 1 1,200 1,500
®H | & 1 1,876 1,800 & —fix 1 1,809 1,800 1,800 1,800
w1 900 BERER 1 1,200 1,500
MR KRR [FIERE PR | R 3 1,407 | * 1,000 PRl — % 3 1,357 1,100 1,200 1,300
wEEAE 3 500 BERER| 3 700 1,000
4% — % 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
K 4 900 BERER| 2 600 700
®H | & 3 1,407 1,400 & —fix 2 904 900 900 900
weEE| 3 700 BERER| 2 700 800
REREE - wanosams] ERMEHE | —ik | 0.75 508 300 400 500
ARG K - ERHOITHEY BRI 0.75 200 300
:fi%ﬁi({ggj Fil | i 3 1,407 | = 1,200
FBIEA wekEEl 3 600
4% —f% 4 1,876 1,800
— ﬁﬁi:ﬂm ! 900 ER27FE1A1AREL
wH | 3 1,407 1,400
HweEEl 3 700
EREIE|  —f% - ERHOIEIEY
ARG K - EREOIEIEY
R | e | i 3 1,173 | 900 i — i 3 1,131 900 1,000 1,100
N —AAE
LA ) HweEEl 3 450 BEEE 3 600 800
Fte | 4 1,564 1,500 | FHOROFHD| —fik 2 754 700 700 700
HEEE 4 750 BEEE| 2 400 500
wH | R 3 1,173 1,100 & H —fi% 2 754 700 700 700
HwekEEl 3 550 BEEE| 2 600 600
R — A - wrnosss] ERMEHE | —fik | 0.75 282 200 200 200
ARG K - ERHOITHEY BEEIE| 0.75 100 100
IR SR %U%%;fﬁﬂg/{ R 3 1,642 | * 1,200 PR —f | 3 1,583 1,300 1,400 1,500
LAY HwekEKl 3 600 BEEE 3 900 1,200
Ttk | 4 2,189 2,100 | ruoOROFHRO| % 2 1,055 1,000 1,000 1,000
4 1,050 2 600 800
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- fi3E K RS2 7 wéi}f)g@%/ &I s 3 1,642 1,600 I i 2 1,055 1,000 1,000 1,000
A HEEE 3 800 BEEK 2 800 900
R % - wRposEs| AR AR f% | 0.75 395 300 300 300
X Trils - ERHOITIEY BEEIE| 0.75 200 200
Iﬁ’ggg'ﬁ/ FET | 3 1173 ] * 900 “Fil —f 3 1,131 900 1,000 1,100
PN HERER| 3 450 BEEE 3 600 800
% —fix 4 1,564 1,500 | FHORVF#| —f% 2 754 700 700 700
HERER| 4 750 BEEE 2 400 500
w | 3 1,173 1,100 &’ —fix 2 754 700 700 700
HERER| 3 550 BEEE 2 600 600
R % - wRpoEEs| JERME | % | 0.75 282 200 200 200
X Trils - ERHOITHEY BEEIE| 0.75 100 100
EARIES TR | M 3 938 | * 700 ER) —fix 3 904 700 800 900
HERER| 3 350 BEEE 3 500 700
4% —fix 4 1,251 1,200 | FHORVF#| —f% 2 603 600 600 600
HERER| 4 600 BEEE 2 400 500
w | 3 938 900 &’ —fi% 2 603 600 600 600
HERER| 3 450 BEEE 2 500 500
R % - wRsoEEs| JERME | % | 0.75 226 200 200 200
XoSrils - ERHOITIEY BEEIE| 0.75 100 100
o= PRl | R 3 938 | * 700 TERiT — 3 904 700 800 900
WA 3 350 BEEE 3 500 700
44 — % 4 1,251 1,200 | FHEOROFHD| —fik 2 603 600 600 600
HERER| 4 600 BEEE 2 400 500
®H | & 3 938 900 [ —f 2 603 600 600 600
kAR 3 450 BEEE 2 500 500
KR A - wasosams] ERMETE | —k 0.75 226 200 200 200
XoSrils - ERHOITHEY BEEIE| 0.75 100 100
e KRS [HIEAR PRl | ik 3 2,815 | * 2,200 TERiT — 3 2,714 2,300 2,500 2,700
HERER| 3 1,100 BEEE 3 1,600 2,100
44 — % 4 3,753 3,700 | roror®| % 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
®wH | & 3 2,815 2,800 R — 2 1,809 1,800 1,800 1,800
kAR 3 1,400 BEEE 2 1,500 1,600
KR A - wasosams] ERETE | —k 0.75 678 600 600 600
XoSrils ERHOITHEY BEEIE| 0.75 400 500
HRRE PR | R 3 1,407 | * 1,000 Rl —fi% 3 1,357 1,100 1,200 1,300
kKl 3 500 BERER| 3 700 1,000
4% — % 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
K] 4 900 BERER| 2 600 700
®H | & 3 1,407 1,400 & —fix 2 904 900 900 900
weEE 3 700 BERER| 2 700 800
REEE - wanosams] ERMEHE | —ik | 0.75 339 300 300 300
ARG K - ERHOITHEY BRI 0.75 200 200
s PR | R 3 1,407 | * 1,000 PRl — % 3 1,357 1,100 1,200 1,300
wEEAE 3 500 BERER| 3 700 1,000
4% — % 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
waEE 4 900 BERER| 2 600 700
®H | & 3 1,407 1,400 & —fix 2 904 900 900 900
MK 3 700 BERER| 2 700 800
REEE wasosams] ERMEHE | —ik | 0.75 339 300 300 300
ARG K - ERHOITHEY BRI 0.75 200 200
PRI X RAE T | S 1SR E PR | R 3 1,876 | * 1,400 PRl — % 3 1,809 1,500 1,600 1,800
HweEE] 3 700 BEEE| 3 1,000 1,400
T | —Rk 4 2,502 2500 | ruoROFHRO| % 2 1,206 1,200 1,200 1,200
HEEE 4 1,250 BEEE 2 800 1,000
wE | R 3 1,876 1,800 & H —fi% 2 1,206 1,200 1,200 1,200
HwekEEl 3 900 BEEE| 2 1,000 1,100
R — A - wrnosss] ERMEHE | —fik | 0.75 452 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
ot R 3 2,815 | * 2,200 i — i 3 2,714 2,300 2,500 2,700
HwekEEl 3 1,100 BEEE 3 1,600 2,100
T | —ik 4 3,753 3,700 | ruorRvEH| % 2 1,809 1,800 1,800 1,800
HEEE 4 1,850 BEEE| 2 1,200 1,500
wH | R 3 2,815 2,800 & H —fi% 2 1,809 1,800 1,800 1,800
HwekEKl 3 1,400 BEEE 2 1,500 1,600
g — - wrnosams] ERMEME | —fk | 0.75 678 600 600 600
ARG K - ERHOITHEY BEEIE| 0.75 400 500
ek GERMEM) | PR | 3 4,692 | * 3,700 Rl — i 3 4,524 3,900 4,200 4,500
3 1,850 3 2,700 3,600
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PERF X AR iR GRREM) | 2Ptk 83 4 6,256 6,200 | FHOROTRD| i 2 3,016 3,000 3,000 3,000
HEREE 4 3,100 BEEK 2 2,000 2,500
TR 2 3,128 3100 | FH®&M .13 2 3,016 3,000 3,000 3,000
HERER| 2 1,550 BEEE 2 2,000 2,500
KRR —i% 3 4,692 4,600 |  {AH &R —f% 2 3,016 3,000 3,000 3,000
HERER| 3 2,300 BEEE 2 2,500 2,700
e - wRBOsEL] ERMEAE | i | 0.75 1,131 900 1,000 1,100
X Trils - EAHOEIEY BEEK| 0.75 600 800
EREITHE | AT | R 3 1,642 | * 1,200 PRI — 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
% —fix 4 2,189 2,100 | FHEORUFEHD| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
FREM| % 2 1,094 1,000 S H A —f% 2 1,055 1,000 1,000 1,000
HERER| 2 500 BEEE 2 600 800
KRR —i% 3 1,642 1,600 | IRH I —f% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRsoEEs| JERMIE | % | 0.75 395 300 300 300
X Trils ERHOITHEY BEEIE| 0.75 200 200
Wl KT REEN) | R | R 1 373 300 ER) —fix 1 359 300 300 300
AR 1 150 BEEE 1 200 200
44 — % 1 373 300 LS —fi% 1 359 300 300 300
HERER 1 150 BEEE 1 200 200
TR — 1 373 300 | CFEHAKR —fi% 1 359 300 300 300
AR 1 150 BEEE 1 200 200
RARME| —fk 1 373 300 | IRHER — % 1 359 300 300 300
HERER 1 150 BEEE 1 200 200
HHEXKEESFT |H1ESER PRl | ik 3 1,407 | * 1,000 TERiT — 3 1,357 1,100 1,200 1,300
HERER| 3 500 BEEE 3 700 1,000
44 — % 4 1,876 1,800 | FHORFHD| —fik 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
®wH | & 3 1,407 1,400 R —f 2 904 900 900 900
kAR 3 700 BEEE 2 700 800
KR A - wasosams] ERETE | —k | 0.75 339 300 300 300
XoSrils - ERHOITEY BEEIE| 0.75 200 200
HoE AR PRl | ik 3 1,876 | * 1,400 TERiT — 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
4% — % 4 2,502 2500 | ruoOROFHRO| % 2 1,206 1,200 1,200 1,200
EEE 4 1,250 BERER| 2 800 1,000
®H | & 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
weEE| 3 900 BERER| 2 1,000 1,100
REREE - wasosams] ERMEHE | —ik | 0.75 452 400 400 400
AKER - ERHOITHEY BRI 0.75 200 300
HIRRE PR | R 3 703 | * 500 Rl —fi% 3 678 500 500 600
wEEAE 3 250 BERER| 3 300 400
4% — % 4 938 900 | FEORUFHE| —fi% 2 452 400 400 400
K 4 450 BERER| 2 200 300
®H | & 3 703 700 & —fix 2 452 400 400 400
weEE| 3 350 BERER| 2 300 300
REREE - wanosams] ERMEHE | —ik | 0.75 169 100 100 100
ARG K - ERHOITHEY BRI 0.75 100 100
s PR | R 3 1,876 | * 1,400 PRl — % 3 1,809 1,500 1,600 1,800
wekEEl 3 700 BERER| 3 1,000 1,400
4% — % 4 2,502 2500 | ruoOROFHRO| % 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 BEEE| 2 800 1,000
wE | R 3 1,876 1,800 & H —fi% 2 1,206 1,200 1,200 1,200
HweEEl 3 900 BEEE 2 1,000 1,100
R — A - wrnosss] ERMEHE | —fik | 0.75 452 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
gamr—nawn| FRT | —ik 3 3,284 | * 2,500 i — i 3 3,166 2,700 2,900 3,100
HweEEl 3 1,250 BEEE 3 1,800 2,400
T | —ik 4 4,379 4300 | ruorROFHO| % 2 2,111 2,100 2,100 2,100
HEEE 4 2,150 BEEE| 2 1,400 1,700
wH | R 3 3,284 3,200 & H —fi% 2 2,111 2,100 2,100 2,100
HwekEEl 3 1,600 BEEE| 2 1,700 1,900
R — A - wrnosss] ERMEHE | —fik | 0.75 791 700 700 700
ARG K - ERHOITHEY BEEIE| 0.75 400 500
i&%g;@_ﬁﬁ% PR 1 1,094 | * 800 YR —fix 1 1,055 800 900 1,000
) K1 400 BEEE| 1 600 800
T | —fk 1 1,094 1,000 1% — 1 1,055 1,000 1,000 1,000
1 500 1 600 800
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FTAX AR i{ﬂdzéﬁﬁ;&&f 7 % 1 1,094 1,000 7 i 1 1,055 1,000 1,000 1,000
) HEEE 1 500 BEEK] 1 600 800
TR R R | 5 14 BRI} i 3 2,346 | * 1,800 PRI .13 3 2,262 1,900 2,000 2,200
HERER| 3 900 BEEE 3 1,300 1,700
4% —fix 4 3,128 3,100 | FHEOROFHD| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
w | 3 2,346 2,300 &’ —fix 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
R % - wRpoEEs| JERMAE | % | 0.75 565 500 500 500
XoTsils - ERHOITIEY BEEIE| 0.75 300 400
FoERE TR M 3 1,876 | * 1,400 ER) — % 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
4% —fix 4 2,502 2,500 | FHEOROFED| —ii% 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
w | 3 1,876 1,800 &’ —fi% 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
| % - wRsoEEs| JERMIE | % | 0.75 452 400 400 400
X Trils - ERHOITHEY BEEIE| 0.75 200 300
H1R=E PR | % 3 2,111 | * 1,600 ER) —fi% 3 2,035 1,700 1,800 2,000
HERER| 3 800 BEEE 3 1,200 1,600
44 — % 4 2,815 2800 | roOrROFHO| —f% 2 1,357 1,300 1,300 1,300
HERER| 4 1,400 BEEE 2 900 1,100
®wH | & 3 2,111 2,100 R — 2 1,357 1,300 1,300 1,300
HERER| 3 1,050 BEEE 2 1,100 1,200
B A - wasosams] ERETE | —k | 0.75 508 400 400 500
XoSrils - ERHOITHEY BEEIE| 0.75 300 400
o= PRl | ik 3 1,642 | * 1,200 TERiT — 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
44 — % 4 2,189 2,100 | ror0rHR| % 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
®wH | & 3 1,642 1,600 R —f 2 1,055 1,000 1,000 1,000
kAR 3 800 BEEE 2 800 900
KR A - wasosams] ERETE | —k | 0.75 395 300 300 300
XoSrils - ERHOITEY BEEIE| 0.75 200 200
KR R M 3 234 200 i} —fi% 3 226 200 200 200
HERER| 3 100 BEEE 3 100 100
P4 — % 4 312 300 | FEOROFRD| —fik 2 150 100 100 100
EEE 4 150 BERER| 2 100 100
®H | & 3 234 200 & —fix 2 150 100 100 100
wEEAE 3 100 BERER| 2 100 100
REREE - wasosams] ERMEHE | —ik | 0.75 56 100 100 100
AKER - ERHOITHEY BRI 0.75 100 100
REEESMER) | P | iR 3 5,161 | * 4,000 ERil} — % 3 4,976 4,300 4,600 4,900
wEEAE 3 2,000 BERER| 3 2,900 3,900
4% — % 4 6,881 6,800 | FHOROFHD| —ii 2 3,317 3,300 3,300 3,300
K 4 3,400 BERER| 2 2,200 2,700
®H | & 3 5,161 5,100 & —fix 2 3,317 3,300 3,300 3,300
wEEAE 3 2,550 BERER| 2 2,800 3,000
REREE - wanosams] ERMEHE | —ik | 0.75 1,244 1,200 1,200 1,200
ARG K - ERHOITHEY BRI 0.75 800 1,000
RE=(@EER) | P | iR 1 74T | % 500 ERil} — % 1 719 500 600 700
K1 250 BERER 1 400 500
P4 —f 1 747 700 4 — % 1 719 700 700 700
K1 350 BEEE| 1 400 500
wE | R 1 747 700 & H —fi% 1 719 700 700 700
K1 350 BEEE| 1 400 500
RERCEREM) | FaT | 1 373 300 i — i 1 359 300 300 400
K1 150 BEEE| 1 200 300
T | ik 1 373 300 Tt — i 1 359 400 400 400
K1 150 BEEE| 1 200 300
wE | R 1 373 300 & H —fi% 1 359 400 400 400
K1 150 BEEE| 1 200 300
ARBERIAESFT [ BIERE T ik 3 1,173 | * 900 i —fi% 3 1,131 900 1,000 1,100
HwekEEl 3 450 BEEE 3 600 800
T | —ik 4 1,564 1,500 | FHOROFHD| —fik 2 754 700 700 700
K| 4 750 BEEE 2 400 500
wH | R 3 1,173 1,100 & H —fix 2 754 700 700 700
HwekEKl 3 550 BEEE 2 600 600
EEfEE - wRpossms] EEMEAE | % |0.75 282 200 200 200
ERHOIEHEL 0.75 100 100
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ARBE BT | 2En=E BRI} S 3 1,407 | * 1,000 PRI 814 3 1,357 1,100 1,200 1,300
HERER| 3 500 BEEK 3 700 1,000
Tk i 4 1,876 1,800 | FEORFRO| ik 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
w | 3 1,407 1,400 & —fi% 2 904 900 900 900
HERER| 3 700 BEEE 2 700 800
R % - wRpoEEs| JERME | % | 0.75 339 300 300 300
X Trils - ERHOITIEY BEEIE| 0.75 200 200
FIERE TR | M 3 1,407 | 1,000 ER) — 3 1,357 1,100 1,200 1,300
HERER| 3 500 BEEE 3 700 1,000
% —fix 4 1,876 1,800 | FHORVF#| —f% 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
w | 3 1,407 1,400 &’ —fi% 2 904 900 900 900
HERER| 3 700 BEEE 2 700 800
R % - wRpoaEs| JERMIE | % | 0.75 339 300 300 300
X Trils - ERHOITHEY BEEIE| 0.75 200 200
HAERE TR M 3 2,111 | * 1,600 ER) — % 3 2,035 1,700 1,800 2,000
HERER| 3 800 BEEE 3 1,200 1,600
4% —fix 4 2,815 2,800 | FHEORUFHD| —ii% 2 1,357 1,300 1,300 1,300
HERER| 4 1,400 BEEE 2 900 1,100
®wH | & 3 2,111 2,100 R —f 2 1,357 1,300 1,300 1,300
WA 3 1,050 BEEE 2 1,100 1,200
B A - wasosams] ERETE | —k | 0.75 508 400 400 500
XoSrils - ERHOITEY BEEIE| 0.75 300 400
FIE PRl | R 3 1,876 | * 1,400 “FiT —f 3 1,809 1,500 1,600 1,800
kAR 3 700 BEEE 3 1,000 1,400
44 — % 4 2,502 2500 | roOrOFHRO| % 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
®wH | & 3 1,876 1,800 R —f 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
B A - wasosams] ERETE | —k 0.75 452 400 400 400
x5k A - AR D3RS HREREIR| 0.7F 200 300
FHXEESFT |H1ESER PRl | ik 3 1,407 | * 1,000 TERiT — 3 1,357 1,100 1,200 1,300
kAR 3 500 BEEE 3 700 1,000
44 — % 4 1,876 1,800 | FHORFHD| —fik 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
wH | R 3 1,407 1,400 & —fix 2 904 900 900 900
kKl 3 700 BERER| 2 700 800
REEE - wasossms] ERMEHE | —ik | 0.75 339 300 300 300
ARG K ERHOITHEY BRI 0.75 200 200
HRRE PR | R 3 1,876 | * 1,400 PRl —fi% 3 1,809 1,500 1,600 1,800
MK 3 700 BERER| 3 1,000 1,400
4% — % 4 2,502 2500 | raOROFHR| % 2 1,206 1,200 1,200 1,200
K] 4 1,250 BERER| 2 800 1,000
®H | & 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
wEEAE 3 900 BERER| 2 1,000 1,100
REEE - wanosams] ERMEHE | —ik | 0.75 452 400 400 400
ARG K - ERHOITHEY BRI 0.75 200 300
HIRRE PR | R 3 1,407 | * 1,000 PRl — i 3 1,357 1,100 1,200 1,300
weEE 3 500 BERER| 3 700 1,000
4% — % 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
K 4 900 BERER| 2 600 700
®H | & 3 1,407 1,400 & —fix 2 904 900 900 900
HweEE] 3 700 BEEE| 2 700 800
R — A - wanosss] ERMEHE | —fik | 0.75 339 300 300 300
ARG K - ERHOITHEY BEEIE| 0.75 200 200
FARIES R 3 1,173 | 900 i — i 3 1,131 900 1,000 1,100
HwekEEl 3 450 BEEE| 3 600 800
T | —ik 4 1,564 1,500 | FHOROFHD| —fik 2 754 700 700 700
HEEE 4 750 BEEE 2 400 500
wE | R 3 1,173 1,100 & H —fi% 2 754 700 700 700
HwekEEl 3 550 BEEE| 2 600 600
R — A - wrnosss] ERMEHE | —fik | 0.75 282 200 200 200
ARG K - ERHOITHEY BEEIE| 0.75 100 100
WO PR 3 1,173 | 900 i — i 3 1,131 900 1,000 1,100
HwekEKl 3 450 BEEE 3 600 800
T | —fk 4 1,564 1,500 | FH#OROFHD| —fik 2 754 700 700 700
K| 4 750 BEEE 2 400 500
w®H | & 3 1,173 1,100 il —fi% 2 754 700 700 700
3 550 2 600 600
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AT % E
FIHXERERTT |FH2fm= R % - wRpomEs| AR AR &% | 0.75 282 200 200 200
TG K - ERHOIEIEY BEEIE| 0.75 100 100
KR BRI} S 3 234 200 PRI .13 3 226 200 200 200
HERER| 3 100 BEEE 3 100 100
4% —fix 4 312 300 | FEOROFED| —ii% 2 150 100 100 100
HERER| 4 150 BEEE 2 100 100
w | 3 234 200 &’ —fi% 2 150 100 100 100
HERER| 3 100 BEEE 2 100 100
R % - wRpoEEs| JERMAE | % | 0.75 56 100 100 100
XoTsils - ERHOITIEY BEEIE| 0.75 100 100
JURKERERFT |HIERE TR M 3 1,173 | = 900 PRI — % 3 1,131 900 1,000 1,100
HERER| 3 450 BEEE 3 600 800
4% —fix 4 1,564 1,500 | FHORVF#| —f% 2 754 700 700 700
HERER| 4 750 BEEE 2 400 500
w | 3 1,173 1,100 &’ —fix 2 754 700 700 700
HERER| 3 550 BEEE 2 600 600
R % - wRsoEEs| JERMIE | % | 0.75 282 200 200 200
X Trils - ERHOITHEY BEEIE| 0.75 100 100
FoERE PRl | ik 3 1,642 | * 1,200 PRI — 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
44 — % 4 2,189 2,100 | rorOFHR| % 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
®wH | & 3 1,642 1,600 R — 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
B A - wasosams] ERETE | —k | 0.75 395 300 300 300
XoSrils - ERHOITHEY BEEIE| 0.75 200 200
HIEAER PRl | ik 3 1,642 | * 1,200 TERiT — 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
44 — % 4 2,189 2,100 | ror0rHR| % 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
®wH | & 3 1,642 1,600 R —f 2 1,055 1,000 1,000 1,000
kAR 3 800 BEEE 2 800 900
KR A - wasosams] ERETE | —k | 0.75 395 300 300 300
XoSrils - ERHOITEY BEEIE| 0.75 200 200
HAERER PRl | ik 3 1,407 | * 1,000 TERiT — 3 1,357 1,100 1,200 1,300
HERER| 3 500 BEEE 3 700 1,000
4% — % 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
K] 4 900 BERER| 2 600 700
®H | & 3 1,407 1,400 & —fix 2 904 900 900 900
wEEAE 3 700 BERER| 2 700 800
REREE - wasosams] ERMEHE | —ik | 0.75 339 300 300 300
AKER - ERHOITHEY BRI 0.75 200 200
= PR | R 3 1,642 | * 1,200 PRl — % 3 1,583 1,300 1,400 1,500
wEEAE 3 600 BERER| 3 900 1,200
4% — % 4 2,189 2,100 | roOROFHRO| % 2 1,055 1,000 1,000 1,000
K 4 1,050 BERER| 2 600 800
®H | & 3 1,642 1,600 & —fix 2 1,055 1,000 1,000 1,000
weEE| 3 800 BERER| 2 800 900
REREE - wanosams] ERMEHE | —ik | 0.75 395 300 300 300
ARG K - ERHOITHEY BRI 0.75 200 200
KR PR | R 3 234 200 PRl — % 3 226 200 200 200
wekEEl 3 100 BERER| 3 100 100
4% — % 4 312 300 | FEORUFHD| —fik 2 150 100 100 100
BEEE 4 150 BEEE| 2 100 100
wE | R 3 234 200 & H —fi% 2 150 100 100 100
HweEEl 3 100 BEEE 2 100 100
R — A - wrnosss] ERMEHE | —fik | 0.75 56 100 100 100
ARG K - ERHOITHEY BEEIE| 0.75 100 100
S AR AT | 45 14 e PR 3 1,642 1,600 i — % 3 1,583 1,500 1,500 1,500
HweEEl 3 800 BEEE 3 1,000 1,200
T | —ik 4 2,189 2,100 | ruoOROFHO| % 2 1,055 1,000 1,000 1,000
HEEE 4 1,050 BEEE| 2 600 800
wH | R 3 1,642 1,600 & H —fi% 2 1,055 1,000 1,000 1,000
HwekEEl 3 800 BEEE| 2 800 900
R — A - wrnosss] ERMEHE | —fik | 0.75 395 300 300 300
ARG K - ERHOITHEY BEEIE| 0.75 200 200
HotE ERT | 3 1,642 1,600 i — % 3 1,583 1,500 1,500 1,500
HwekEKl 3 800 BEEE 3 1,000 1,200
T | —fk 4 2,189 2,100 | ruoOROFHRO| % 2 1,055 1,000 1,000 1,000
4 1,050 2 600 800
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AT % E
AL AT | 5 24E AR & S 3 1,642 1,600 & 814 2 1,055 1,000 1,000 1,000
HEEE 3 800 BEEK 2 800 900
R % - wRposEs| AR AR f% | 0.75 395 300 300 300
X Trils - ERHOITIEY BEEIE| 0.75 200 200
FIERE PR | iR 3 1,173 1,100 PRI — 3 1,131 1,100 1,100 1,100
HERER| 3 550 BEEE 3 700 900
% —fix 4 1,564 1,500 | FHORVF#| —f% 2 754 700 700 700
HERER| 4 750 BEEE 2 400 500
w | 3 1,173 1,100 &’ —fix 2 754 700 700 700
HERER| 3 550 BEEE 2 600 600
R % - wRpoEEs| JERME | % | 0.75 282 200 200 200
X Trils - ERHOITHEY BEEIE| 0.75 100 100
HAERE PR | R 3 1,642 1,600 PRI — 3 1,583 1,500 1,500 1,500
HERER| 3 800 BEEE 3 1,000 1,200
4% —fix 4 2,189 2,100 | FHEOROFED| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
w | 3 1,642 1,600 &’ —fi% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRsoEEs| JERME | % | 0.75 395 300 300 300
XoSrils - EAHOEIEY BEEIE| 0.75 200 200
HHERE PRl | % 3 1,407 1,400 i} —fi% 3 1,357 1,300 1,300 1,300
WA 3 700 BEEE 3 900 1,100
44 — % 4 1,876 1,800 | FHORFHD| —fik 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
®H | & 3 1,407 1,400 [ —f 2 904 900 900 900
kAR 3 700 BEEE 2 700 800
KR A - wasosams] ERMETE | —k 0.75 339 300 300 300
XoSrils - ERHOITHEY BEEIE| 0.75 200 200
:%ﬁ/%ﬁf;{ggj FET | 3 1,407 1,400 ZET | 3 1,357 1,300 1,300 1,300
B HERER| 3 700 BEEE 3 900 1,100
44 — % 4 1,876 1,800 | FHORFHD| —fik 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
®wH | & 3 1,407 1,400 R — 2 904 900 900 900
kAR 3 700 BEEE 2 700 800
KR A - wasosams] ERETE | —k 0.75 339 300 300 300
XoSrils ERHOITHEY BEEIE| 0.75 200 200
:fﬁ/%ﬁi({ggj Fil | i 3 1,173 1,100 ] —f | 3 1,131 1,100 1,100 1,100
LAau ) kKl 3 550 BERER| 3 700 900
4% — % 4 1,564 1,500 | FH#OROFHD| —fik 2 754 700 700 700
K] 4 750 BERER| 2 400 500
®H | & 3 1,173 1,100 & —fix 2 754 700 700 700
weEE 3 550 BERER| 2 600 600
REEE - wanosams] ERMEHE | —ik | 0.75 282 200 200 200
ARG K - ERHOITHEY BRI 0.75 100 100
s PR | R 3 2,346 2,300 PRl — % 3 2,262 2,200 2,200 2,200
wEEAE 3 1,150 BERER| 3 1,500 1,800
4% — % 4 3,128 3,100 | rorvr®E| —fi% 2 1,508 1,500 1,500 1,500
waEE 4 1,550 BERER| 2 1,000 1,200
®H | & 3 2,346 2,300 & —fix 2 1,508 1,500 1,500 1,500
MK 3 1,150 BERER| 2 1,200 1,300
REEE wasosams] ERMEHE | —ik | 0.75 565 500 500 500
ARG K - ERHOITHEY BRI 0.75 300 400
PEMPATREE A, A CER) | FaT | R 3 9,213 | * 6,900 PRl — % 3 7,227 6,900 6,900 6,900 |#E % =
HweEE] 3 3,450 BEEE| 3 4,600 5,700
T | —Rk 4 18,427 | * 12,000 % — % 4 14,458 12,000 12,000 12,000 |# %
HEEE 4 6,000 BEEE| 4 8,000 10,000
®H | 3 18,427 | * 13,000 & H — % 3 14,460 13,000 13,000 13,000 |# % i
HwekEEl 3 6,500 BEEE| 3 8,600 10,000
4 H —fx - 41,460 | * 28,000 ot —fi% - 28,710 (HIBR) (HIBR) (HIBR)
ARG K 14,000 AR GRE - [GUZI) (HIRR)
R — A - wrnosss] ERMEHE | —fik | 0.75 1,806 1,800 1,800 1,800
ARG K - ERHOITHEY BEEIE| 0.75 1,200 1,500
M A CEESD | FRT | 3 9,213 | * 6,900 i —fi% 3 7,227 6,900 6,900 6,900 |54 [
HwekEEl 3 3,450 BEEE 3 4,600 5,700
T | —ik 4 22,114 | * 14,000 % — % 4 17,350 14,000 14,000 14,000 | ¥ %
K| 4 7,000 BEEE 4 9,300 11,000
®H | & 3 22,110 | * 16,000 & H — % 3 17,352 16,000 16,000 16,000 | ¥ &
HwekEKl 3 8,000 BEEE 3 10,000 13,000
4H —fix - 48,093 | * 33,000 AR —fix - 33,210 (HIBR) (HIBR) (HIBR)
16,500 - [GUZ3) [GUIE3)
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AT % E
PEENE T AR [, WA CEAW) [reiEE % - ERBOsEEL] ERAE R % | 0.75 1,806 1,800 1,800 1,800
TG K - ERHOIEIEY BEKEA| 0.75 1,200 1,500
R (ERFIM) | PR S 3 4,599 | * 3,700 PRI - 3 4,433 3,700 3,700 3,700 |45 i x
HERER| 3 1,850 BEEE 3 2,400 3,000
4% —fix 4 6,132 6,100 | FOROFHO| —fi% 2 2,955 2,900 2,900 2,900
HERER| 4 3,050 BEEE 2 1,900 2,400
w | 3 4,599 4,500 &’ —fi% 2 2,955 2,900 2,900 2,900
HERER| 3 2,250 BEEE 2 2,400 2,600
e - wRBOsEL] ERMEAE | i | 0.75 1,108 1,100 1,100 1,100
XoTsils - ERHOITIEY BEEIE| 0.75 700 900
k= TR M 3 2,111 | * 1,600 PRI — % 3 2,035 1,600 1,600 1,600 |4 % &=
HERER| 3 800 BEEE 3 1,000 1,300
4% —fix 4 2,815 2,800 | FHEORUFHD| —ii% 2 1,357 1,300 1,300 1,300
HERER| 4 1,400 BEEE 2 900 1,100
w | 3 2,111 2,100 &’ —fi% 2 1,357 1,300 1,300 1,300
HERER| 3 1,050 BEEE 2 1,100 1,200
R % - wRsoEEs| JERMIE | % | 0.75 508 500 500 500
X Trils - ERHOITHEY BEEIE| 0.75 300 400
BIERE TR | M 3 1,971 | * 1,500 PRI — 3 1,900 1,500 1,500 1,500 |4 % =
HERER| 3 750 BEEE 3 1,000 1,200
44 — % 4 2,628 2,600 | rOROFHRO| % 2 1,266 1,200 1,200 1,200
HERER| 4 1,300 BEEE 2 800 1,000
®wH | & 3 1,971 1,900 &I — % 2 1,266 1,200 1,200 1,200
HERER| 3 950 BEEE 2 1,000 1,100
B A - wRpogEs| FERME | —% | 0.75 475 400 400 400
x5k A - AR D3RS HREREIR| 0.7F 200 300
HERE PRl | ik 3 1,688 | 1,200 i — 3 1,628 1,200 1,200 1,200 |4 % &=
HERER| 3 600 BEEE 3 800 1,000
44 — % 4 2,251 2,200 | FOROFR| % 2 1,085 1,000 1,000 1,000
HERER| 4 1,100 BEEE 2 700 800
®wH | & 3 1,688 1,600 R —f 2 1,085 1,000 1,000 1,000
kAR 3 800 BEEE 2 800 900
KR A - wRpogEs| FERMTE | —i% | 0.75 407 400 400 400
XoSrils - ERHOITEY BEEIE| 0.75 200 300
HIEAER PRl | ik 3 938 900 “FiT — 3 904 900 900 900
HERER| 3 450 BEEE 3 600 700
P4 — % 4 1,251 1,200 | FHOROFHD| —fik 2 603 600 600 600
K] 4 600 BERER| 2 400 500
®H | & 3 938 900 & —fix 2 603 600 600 600
wEEAE 3 450 BERER| 2 500 500
REREE - wasosams] ERMEHE | —ik | 0.75 226 200 200 200
AKER - ERHOITHEY BRI 0.75 100 100
ormEakaty  |—LV(CFER) PR | R 3 20,750 | * 18,000 ERil} — % 3 13,468 13,000 13,000 13,000
Ttk 213 4 41,492 | * 30,000 Pk 53 4 26,945 26,000 26,000 26,000
®H | & 3 41,487 | * 38,000 & — % 3 26,949 26,000 26,000 26,000
4H - - 93,356 | * 77,000 4H 83 - 58,500 [GUZI) (GUEI) (GUEI)
REEE - wasosams] ERMTE | —ik | 0.75 3,367 3,300 3,300 3,300
A= (AR | PR - 3 20,750 | * 18,000 i 53 3 13,468 13,000 13,000 13,000
k| —M 4 49,790 | * 36,000 Pk — % 4 32,334 32,000 32,000 32,000
il A 3 49,790 | * 46,000 el 53 3 32,339 32,000 32,000 32,000
4 H — % - 108,297 | * 90,000 4 H —fi% - 69,300 (HIBR) (HIBR) (HIBR)
i ik - wRsossmRs] IE AR % 10.75 3,367 3,300 3,300 3,300
HIEDER PR | R 3 2,346 | * 1,800 ERil} — % 3 2,262 1,900 2,000 2,200
HweEE] 3 900 BEEE| 3 1,300 1,700
T | —Rk 4 3,128 3,100 | ruoOrROFH| —fi% 2 1,508 1,500 1,500 1,500
HEEE 4 1,550 BEEE 2 1,000 1,200
wE | R 3 2,346 2,300 & H —fi% 2 1,508 1,500 1,500 1,500
HwekEEl 3 1,150 BEEE| 2 1,200 1,300
R — A - wrnosss] ERMEHE | —fik | 0.75 565 500 500 500
ARG K - ERHOITHEY BEEIE| 0.75 300 400
ot R 3 2,815 | * 2,200 i — i 3 2,714 2,300 2,500 2,700
HwekEEl 3 1,100 BEEE 3 1,600 2,100
T | —ik 4 3,753 3,700 | ruorRvEH| % 2 1,809 1,800 1,800 1,800
HEEE 4 1,850 BEEE| 2 1,200 1,500
wH | R 3 2,815 2,800 & H —fi% 2 1,809 1,800 1,800 1,800
HwekEKl 3 1,400 BEEE 2 1,500 1,600
g — - wrnosams] ERMEME | —fk | 0.75 678 600 600 600
ARG K - ERHOITHEY BEEIE| 0.75 400 500
oA R ik 3 1,642 | 1,200 LSt} —fi% 3 1,583 1,300 1,400 1,500
3 600 3 900 1,200
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BT % E
BrmakRtE | HSERE ER" wx 4 2,189 2,100 | re0Or0r#E| % 2 1,055 1,000 1,000 1,000
HEREE 4 1,050 BEEK 2 600 800
& i 3 1,642 1,600 & .13 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRpoEEs| JERME | % | 0.75 395 300 300 300
X Trils - ERHOITHEY BEEIE| 0.75 200 200
HOERE PRl | iR 3 1,642 | * 1,200 PRI — % 3 1,583 1,300 1,400 1,500
HERER| 3 600 BEEE 3 900 1,200
4% —fix 4 2,189 2,100 | FHEORFEHD| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
w | 3 1,642 1,600 &’ —fi% 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
R % - wRpoEEs| JERME | % | 0.75 395 300 300 300
X Trils - ERHOITIEY BEEIE| 0.75 200 200
U AWM | Rl | R 3 2,815 | * 2,200 ER) —fix 3 2,714 2,300 2,500 2,700
HERER| 3 1,100 BEEE 3 1,600 2,100
% —fix 4 3,753 3,700 | FHEORUFHD| —ii% 2 1,809 1,800 1,800 1,800
HERER| 4 1,850 BEEE 2 1,200 1,500
w | 3 2,815 2,800 &’ —fi% 2 1,809 1,800 1,800 1,800
HERER| 3 1,400 BEEE 2 1,500 1,600
B A - wasosams] ERETE | —k 0.75 678 600 600 600
XoSrils - ERHOITHEY BRI 0.75 400 500
FUME AR | PR | 3 1,876 | * 1,400 R —fi% 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
| 4 2,502 2,500 | FHEOROF#D| —f% 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
®H | & 3 1,876 1,800 R — 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
B A - wasosams] ERMAETE | —k 0.75 452 400 400 400
XoSrils - ERHOITEY BEEIE| 0.75 200 300
o= PR | 3 1,407 | * 1,000 ERi] — 3 1,357 1,100 1,200 1,300
kAR 3 500 BERER| 3 700 1,000
| 4 1,876 1,800 | rOROFRD| 2 904 900 900 900
HERER| 4 900 BEEE 2 600 700
®H | & 3 1,407 1,400 R — 2 904 900 900 900
HERER| 3 700 BEEE 2 700 800
REREE - wanosams] ERMEHE | —ik | 0.75 339 300 300 300
ARG K - ERHOITHEY BRI 0.75 200 200
LERE (L) | Fall | — ik 3 3,753 | * 3,000 PRl — % 3 3,619 3,200 3,400 3,600
wEEAE 3 1,500 BERER| 3 2,200 2,900
g | —M 4 5,004 5,000 | FHEOROFHD| —ii% 2 2,412 2,400 2,400 2,400
K 4 2,500 BERER| 2 1,600 2,000
U 4 3 3,753 3,700 & —fix 2 2,412 2,400 2,400 2,400
BwaEE| 3 1,850 2 2,000 2,200
REREE - wasosams] ERMEHE | —ik | 0.75 904 900 900 900
ARG K - ERHOITHEY BRI 0.75 600 700
TR EREM) | Fal | — ik 3 1,876 | * 1,400 PRl — % 3 1,809 1,500 1,600 1,800
wEEAE 3 700 BERER| 3 1,000 1,400
k| —M 4 2,502 2500 | raoOROFHRO| % 2 1,206 1,200 1,200 1,200
BwEEE| 4 1,250 2 800 1,000
U 4 3 1,876 1,800 & —fix 2 1,206 1,200 1,200 1,200
wekEEl 3 900 BERER| 2 1,000 1,100
REREE - wanossms] ERMEHE | —ik | 0.75 452 400 400 400
ARG K - ERHOITHEY BEEIE| 0.75 200 300
[STEIES TR ik 3 3,753 3,700
HweEEl 3 1,850
T | ik 4 5,004 5,000
HEEE 4 2,500
w’H | 3 3,753 3,700 — i 1 890 800 800 800
HweEEl 3 1,850 BEEE| 1 800 800
e — A% - ERHOIEIEY
ARG K - EREOIEIEY
FAR=S £ PR 1 1,055 | 800 i — i 1 1,017 800 900 1,000
K1 400 BEEE| 1 600 800
T | ik 1 1,055 1,000 Tt — i 1 1,017 1,000 1,000 1,000
K1 500 BEEE| 1 600 800
wH | R 1 1,055 1,000 & H —fix 1 1,017 1,000 1,000 1,000
K1 500 BEEE| 1 600 800
BEANT R | PR | 1 156 100 i — 1 150 100 100 100
Ttk i 1 156 100 T4 813 1 150 100 100 100
&H | & 1 156 100 A H —fi% 1 150 100 100 100
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AT % E
HaRBHH RS — = (ER) PRl i 3 38,463 | * 36,000 PRIl 814 3 24,966 24,000 24,000 24,000
T | Rk 4 76,912 | * 72,000 % —% 4 49,947 49,000 49,000 49,000
& i 3 76,904 | * 72,000 & .13 3 49,954 49,000 49,000 49,000
el | K - 173,051 | * 162,000 et —fi% - 109,800 (FilRR) (GUEI) (FlRR)
R — % - wRBosEEs] ERMEAE | i | 0.75 6,241 6,200 6,200 6,200
A= (ER) | AT | R 3 38,463 | * 36,000 ERil] —fi% 3 24,966 24,000 24,000 24,000
T | ik 4 92,294 | * 86,000 T4 — % 4 59,948 59,000 59,000 59,000
wH | R 3 92,294 | * 86,000 A —fi% 3 59,941 59,000 59,000 59,000
2R | - 200,745 | * 187,000 4H —fi% - 127,800 [GUZ3) [GUIZ3) (HIRR)
BEREIE|  —A% - wRgossmy| FERMEAE | —#% |0.75 6,241 6,200 6,200 6,200
FEERE TR M 3 1,876 | * 1,400 PRI — % 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
4% —fix 4 2,502 2,500 | FEOROF#D| —f% 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
w | 3 1,876 1,800 ! —fi% 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
e - wRsoEEs| JERMIE | % | 0.75 452 400 400 400
X Trils - ERHOITHEY BEEIE| 0.75 200 300
HOERE PRl | ik 3 1,876 | * 1,400 PRI — 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
44 — % 4 2,502 2500 | rroOrOFHRO| % 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
®wH | & 3 1,876 1,800 R — 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
B A - wasosams] ERETE | —k | 0.75 452 400 400 400
x5k A - AR D3RS HREREIR| 0.7F 200 300
HTHEDR PRl | ik 3 1,876 | * 1,400 TERiT — 3 1,809 1,500 1,600 1,800
HERER| 3 700 BEEE 3 1,000 1,400
44 — % 4 2,502 2500 | rroOrOFHRO| % 2 1,206 1,200 1,200 1,200
HERER| 4 1,250 BEEE 2 800 1,000
®wH | & 3 1,876 1,800 R —f 2 1,206 1,200 1,200 1,200
kAR 3 900 BEEE 2 1,000 1,100
KR A - wasosams] ERETE | —k | 0.75 452 400 400 400
XoSrils - ERHOITEY BEEIE| 0.75 200 300
WIRER (Eae | PR | 3 2,111 | * 1,600 ERin) —fi% 3 2,035 1,700 1,800 2,000
Ll ERE ey wREK 3 800 wirEk| 3 1,200 1,600
4% — % 4 2,815 2800 | ruorROFHRO| % 2 1,357 1,300 1,300 1,300
K] 4 1,400 BERER| 2 900 1,100
®H | & 3 2,111 2,100 & —fix 2 1,357 1,300 1,300 1,300
wEEAE 3 1,050 BERER| 2 1,100 1,200
REREE - wasosams] ERMEHE | —ik | 0.75 508 400 400 500
AKER - ERHOITHEY BRI 0.75 300 400
R (e | PET | i 3 1,173 | * 900 i —fi% 3 1,131 900 1,000 1,100
AL GE) HEEE 3 450 wREK 3 600 800
4% — % 4 1,564 1,500 | FHEOROFHD| —fik 2 754 700 700 700
K 4 750 BERER| 2 400 500
®H | & 3 1,173 1,100 & —fix 2 754 700 700 700
weEE| 3 550 BERER| 2 600 600
REREE - wanosams] ERMEHE | —ik | 0.75 282 200 200 200
ARG K - ERHOITHEY BRI 0.75 100 100
Fofn= PR | R 3 2,346 | * 1,800 PRl — % 3 2,262 1,900 2,000 2,200
wekEEl 3 900 BERER| 3 1,300 1,700
4% — % 4 3,128 3,100 | ror0r®| —fi% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BEEE| 2 1,000 1,200
wE | R 3 2,346 2,300 & H —fi% 2 1,508 1,500 1,500 1,500
HweEEl 3 1,150 BEEE 2 1,200 1,300
R — A - wrnosss] ERMEHE | —fik | 0.75 565 500 500 500
ARG K - ERHOITHEY BEEIE| 0.75 300 400
BT E T ik 3 5,161 | * 4,000 Rl — % 3 4,976 4,300 4,600 4,900
HweEEl 3 2,000 BEEE 3 2,900 3,900
Ttk | 4 6,881 6,800 | FHEOROFHD| —ii 2 3,317 3,300 3,300 3,300
HEEE 4 3,400 BEEE| 2 2,200 2,700
wH | R 3 5,161 5,100 & H —fi% 2 3,317 3,300 3,300 3,300
HwekEEl 3 2,550 BEEE| 2 2,800 3,000
R — A - wrnosss] ERMEHE | —fik | 0.75 1,244 1,200 1,200 1,200
ARG K - ERHOITHEY BEEIE| 0.75 800 1,000
Urn—HLE ERT | 3 3,753 | * 3,000 i — i 3 3,619 3,200 3,400 3,600
HwekEKl 3 1,500 BEEE 3 2,200 2,900
T | —fk 1 5,004 5,000 T4 — i 4 4,825 4,800 4,800 4,800
4 2,500 4 3,200 4,000
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BT % E
HEBH R A — (I —P LR & i 3 3,753 3,700 & 814 3 3,619 3,600 3,600 3,600
HEEE 3 1,850 BEEK 3 2,400 3,000
e - wRsossEs] LR R % | 0.75 904 900 900 900
X Trils - ERHOITIEY BEEIE| 0.75 600 700
JEoRE (i) | 4R —fix 10 19,712 19,000 4H —f% 10 19,012 19,000 19,000 19,000
HERER| 10 9,500 BEEE| 10 12,000 15,000
BRE (REMEM) | FAT | R 3 9,198 | * 7,300 ER) —fi% 3 8,870 7,800 8,300 8,800
HERER| 3 3,650 BEEE 3 5,300 7,000
4% —fix 4 12,264 12,000 | FEOROFED| —ii% 2 5,913 5,900 5,900 5,900
HERER| 4 6,000 BEEE 2 3,900 4,900
w | 3 9,198 9,100 &’ —fix 2 5,913 5,900 5,900 5,900
HERER| 3 4,550 BEEE 2 5,000 5,400
R % - wRpoEEs| JERME | % | 0.75 2,217 2,100 2,100 2,200
X Trils - ERHOITIEY BEEIE| 0.75 1,400 1,800
A BIERE TR M 3 1,876 | * 1,200 PRI — 3 1,809 1,200 1,200 1,200 |4 % =
HERER| 3 600 BEEE 3 800 1,000
% —fix 4 2,502 | * 2,400 | FHEOROFHD| —ii% 2 1,206 1,200 1,200 1,200
HEREE 4 1,200 BEEE 2 800 1,000
w | 3 1,876 1,800 &’ —fi% 2 1,206 1,200 1,200 1,200
HERER| 3 900 BEEE 2 1,000 1,100
B A - wRpopEs| FERME | —% | 0.75 452 400 400 400
XoSrils - ERHOITHEY BRI 0.75 200 300
HERE R 3 1,642 | * 1,000 PRl — 3 1,583 1,000 1,000 1,000 |4 % &
HERER| 3 500 BEEE 3 600 800
| 4 2,189 2,100 | FHEORUFEHD| —ii% 2 1,055 1,000 1,000 1,000
HERER| 4 1,050 BEEE 2 600 800
®H | & 3 1,642 1,600 R — 2 1,055 1,000 1,000 1,000
HERER| 3 800 BEEE 2 800 900
B A - wRpopEs| FERME | —i% | 0.75 395 300 300 300
XoSrils - ERHOITEY BEEIE| 0.75 200 200
HIRRE PR | 3 2,346 | * 1,500 PRl — 3 2,262 1,500 1,500 1,500 |4 % &=
kAR 3 750 BERER| 3 1,000 1,200
| 4 3,128 3,100 | FHEORUFHD| —ii% 2 1,508 1,500 1,500 1,500
HERER| 4 1,550 BEEE 2 1,000 1,200
®H | & 3 2,346 2,300 R — 2 1,508 1,500 1,500 1,500
HERER| 3 1,150 BEEE 2 1,200 1,300
REREE - wanosams] ERMEHE | —ik | 0.75 565 500 500 500
ARG K - ERHOITHEY BRI 0.75 300 400
CEEE D) 1[5 —fi% 2 4,692 4,600 1[5] — % 2 4,524 4,500 4,500 4,500
T (KRIK) l - 2 10,322 10,000 [ W 2 9,952 9,900 9,900 9,900
HEE (FLFE) 14 —fix 2 15,014 | * 14,000 [ —fix 2 14,476 14,000 14,000 14,000
ES IR NI GF-R) KRl - 3 22,123 22,000 F R 53 3 22,123 22,000 22,000 22,000
k| —M 4 44,246 44,000 Pk — % 4 44,246 44,000 44,000 44,000
el A 4 58,995 58,000 el 53 4 58,995 58,000 58,000 58,000
AR | i - 111,600 111,000 4H —fi% - 111,600 111,000 111,000 111,000
EREE ik - wRBOsEms] LR R i | 0.75 5,530 5,500 5,500 5,500
ANEIG (ERBY | PR | —R 3 26,545 26,000 ERil} — % 3 26,545 26,000 26,000 26,000
Ttk 213 4 53,099 53,000 Pk 53 4 53,099 53,000 53,000 53,000
| i 4 70,787 70,000 & — % 4 70,787 70,000 70,000 70,000
4H 213 - 134,100 134,000 4 A M - 134,100 134,000 134,000 134,000
REEE - wasosams] ERMETE | —ik | 0.75 6,636 6,600 6,600 6,600
KEA—VCER) | Rl - 3 13,820 13,000 R} 53 3 10,840 10,000 10,000 10,000
BEEE 3 6,500 wEEK| 3 7,600 8,800
ER" - 4 27,640 27,000 T4 M 4 21,687 21,000 21,000 21,000
B 4 13,500 BEEK| 4 16,000 18,000
] - 4 36,854 36,000 &’ M 4 28,921 28,000 28,000 28,000
B 4 18,000 BEEK| 4 21,000 24,000
4HA - - 68,400 68,000 4 A - - 53,100 [GUZI) (HIRR) (HIRR)
B - 34,000 B - (HIBR) (HIBR)
R ik - wERBOsERL]  JERAE R i | 0.75 2,710 2,700 2,700 2,700
B - ERHOIBIEY HEEIK| 0.75 2,200 2,400
KRA—A (CERB) | 2R - 3 13,820 13,000 ER) M 3 10,840 10,000 10,000 10,000
Bk 3 6,500 wEEK| 3 7,600 8,800
ER" - 4 32,400 32,000 T4 M 4 26,030 26,000 26,000 26,000
B 4 16,000 BEEK| 4 19,000 22,000
wIH 2.3 1 43,200 43,000 &I M 1 34,702 34,000 34,000 34,000
B 4 21,500 BEEK| 4 25,000 29,000
4HA i - 79,200 79,000 4 A - - 63,000 [GUZI) (HIRR) (HIRR)
B - 39,500 B - [CU]73) (HIBR)
e - wRsossEs] AR % | 0.75 2,710 2,700 2,700 2,700
TGk K - ERHOIEIEY BEEIE| 0.75 2,200 2,400
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AT % E
fi"[{%ﬁ{ﬁ%)g’%i i s 3 8,445 8,400 PRl i 3 8,143 8,100 8,100 8,100
PSR CEH)) - HEKER| 3 4,200 BEEK 3 5,500 6,800
Tk 83 4 11,260 11,000 4% .13 4 10,857 10,000 10,000 10,000
HERER| 4 5,500 BEEE 4 7,000 8,500
w | 4 11,260 11,000 il —fi% 4 10,857 10,000 10,000 10,000
HERER| 4 5,500 BEEE 4 7,000 8,500
2R | - 27,360 27,000 4H —fi% - 25,290 (HIBR) [GUZ3) (HIRR)
X Trils - 13,500 HGRE A - (HIBR) (GUEI)
e — i - manossias| JERMEAR | % | 0.75 2,035 2,000 2,000 2,000
XoTsils - ERHOITIEY BEEIE| 0.75 1,500 1,700
ﬁ"{{%ﬁ%i%ﬁ PR | 3 8,445 8,400 FRi — i 3 8,143 8,100 8,100 8,100
e ﬁf): HEKER| 3 4,200 BEEE 3 5,500 6,800
4% — % 4 13,514 13,000 EE? —fi% 4 13,032 13,000 13,000 13,000
HERER| 4 6,500 BEEE 4 8,600 10,000
w | 4 13,514 13,000 il —fi% 4 13,032 13,000 13,000 13,000
HERER| 4 6,500 BEEE 4 8,600 10,000
2R | - 30,960 30,000 4H —fi% - 30,690 (HIBR) (HIRR) (HIRR)
X Trils - 15,000 BGRE A - (HIBR) (GUEI)
e — i - manossias| FERMEAR | % | 0.75 2,035 2,000 2,000 2,000
XoSrils - ERHOITIEY HBEEIE| 0.7F 1,500 1,700
BREOA—L | g | 3 4,200 4,200 “FRi — 3 14,072 4,000 4,000 4,000
(EFIH (OF s —
) BeRER| 3 2,100 GERER| 3 2,700 3,300
44 —fi% 4 5,500 5,500 4 —fi% 4 5,429 5,400 5,400 5,400
HERER| 4 2,750 BEEE| 4 3,600 4,500
®H | & 4 5,500 5,500 &I — % 4 5,429 5,400 5,400 5,400
HERER| 4 2,750 BEEE| 4 3,600 4,500
2R | - 13,500 13,500 4H — % - 12,645 [GULZ3) (HIRR) (HIRR)
XoSrils - 6,750 B K - [GUEI) (GUEI)
B A - wRpopEs| FERME | —i% | 0.75 1,017 1,000 1,000 1,000
XoSrils - ERHOITEY BEEIE| 0.75 700 800
fifgj@%ﬁ%(‘fu PR | 3 4,200 4,200 “FRi — 3 14,072 4,000 4,000 4,000
#) )7: kAR 3 2,100 BEEE 3 2,700 3,300
44 —fi% 4 6,500 6,500 4 —fi% 4 6,516 6,500 6,500 6,500
HERER| 4 3,250 BEEE| 4 4,300 5,400
®H | & 4 6,500 6,500 R — 4 6,516 6,500 6,500 6,500
HERER| 4 3,250 BEEE| 4 4,300 5,400
4 H —fix - 15,000 15,000 4 H —fi% - 15,345 (HIBR) (HIBR) (HIBR)
ARG K - 7,500 LR (R - [GUEI) (GUEI)
REEE - wasossms] ERMEHE | —ik | 0.75 1,017 1,000 1,000 1,000
ARG K - ERHOITHEY BRI 0.75 700 800
W R —L |9~ 130E| —iik 1 747 | % 500 9~ 130 —fi% 1 719 500 600 700
(FTEHROFIAD [ 13~o0ms| — 1 747 700 | 13~228 % 1 719 700 700 700
FWIHTCER) | Rl | —#% 3 4,391 4,300 R[] — % 3 4,391 4,300 4,300 4,300
wekEEl 3 2,150 BERER| 3 2,800 3,500
P4 — 4 8,785 8,700 4 — % 4 8,785 8,700 8,700 8,700
K 4 4,350 BERER| 4 5,800 7,200
®H | & 4 11,716 11,000 & — % 4 11,716 11,000 11,000 11,000
waEE 4 5,500 BERER| 4 7,300 9,100
AR | i - 21,600 21,000 4H — i - 21,600 21,000 21,000 21,000
ARG K - 10,500 LR (R - 14,000 17,000
REEE - wasosams] ERMEHE | —ik | 0.75 1,097 1,000 1,000 1,000
ARG K - ERHOITHEY BRI 0.75 700 800
FOZHL R | PR | —R 3 4,829 4,800 ERil} — % 3 4,829 4,800 4,800 4,800
HweEE] 3 2,400 BEEE| 3 3,200 4,000
T | ik 4 9,656 9,600 T4 — i 4 9,656 9,600 9,600 9,600
HEEE 4 4,800 BEEE| 4 6,400 8,000
wE | R 4 12,872 12,000 & H — % 4 12,872 12,000 12,000 12,000
HEEE 4 6,000 BEEE 4 8,000 10,000
2R | ik - 23,760 23,000 4 H — i - 23,760 23,000 23,000 23,000
ARG K - 11,500 AR GRE - 15,000 19,000
R — A - wrnosss] ERMEHE | —fik | 0.75 1,207 1,200 1,200 1,200
ARG K - ERHOITHEY BEEIE| 0.75 800 1,000
FOZH2CER) | Al | —i 3 1,808 1,800 i — i 3 1,808 1,800 1,800 1,800
HwekEEl 3 900 BEEE 3 1,200 1,500
T | ik 4 3,617 3,600 Tt — i 4 3,617 3,600 3,600 3,600
K| 4 1,800 BEEE 4 2,400 3,000
wH | R 4 4,824 4,800 & H —fix 4 4,824 4,800 4,800 4,800
K| 4 2,400 BEEE| 4 3,200 4,000
2R | % - 9,180 9,100 4 H —fi% - 9,180 9,100 9,100 9,100
- 4,550 6,000 7,500
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AT % E
ES RS W2 (CER) | reR@is| ik - ERBOsEEL] ERAE R % | 0.75 452 400 400 400
TG K - ERHOIEIEY BEKEA| 0.75 300 300
Fonzgm2 (kR | EET S 3 1,988 1,900 PRI .13 3 1,988 1,900 1,900 1,900
HERER| 3 950 BEEE 3 1,200 1,500
4% — % 4 3,976 3,900 R —fi% 4 3,976 3,900 3,900 3,900
HERER| 4 1,950 BEEE 4 2,600 3,200
w | 4 5,300 5,300 &’ —fix 4 5,300 5,300 5,300 5,300
HERER| 4 2,650 BEEE 4 3,500 4,400
e —fix - 9,990 9,900 4H —f% - 9,990 9,900 9,900 9,900
XoTsils - 4,950 HGRE - 6,600 8,200
R % - wRpoEEs| JERME | % | 0.75 497 400 400 400
X Trils - EAHOEIEY BEKEK| 0.75 300 300
FWIH3CER) | PRl | ik 3 2,066 2,000 PRI — 3 2,066 2,000 2,000 2,000
HERER| 3 1,000 BEEE 3 1,300 1,600
4% — % 4 4,134 4,100 R —fi% 4 4,134 4,100 4,100 4,100
HERER| 4 2,050 BEEE 4 2,700 3,400
w | 4 5,513 5,500 &’ —fix 4 5,513 5,500 5,500 5,500
HERER| 4 2,750 BEEE 4 3,600 4,500
2R | % - 10,440 10,000 4H —fi% - 10,440 10,000 10,000 10,000
XoSrils - 5,000 BGRE A - 6,600 8,300
B A - wasosams] ERETE | —k 0.75 516 500 500 500
XoSrils - ERHOITHEY BEEIE| 0.75 300 400
FOZHE3 (R | PR | M 3 2,272 2,200 i} —fi% 3 2,272 2,200 2,200 2,200
HERER| 3 1,100 BEEE 3 1,400 1,800
44 — % 4 4,544 4,500 LS —fi% 4 4,544 4,500 4,500 4,500
HERER| 4 2,250 BEEE| 4 3,000 3,700
®H | & 4 6,057 6,000 R — 4 6,057 6,000 6,000 6,000
HERER| 4 3,000 BEEE| 4 4,000 5,000
AR | % - 11,430 11,000 4H — % - 11,430 11,000 11,000 11,000
XoSrils - 5,500 BGRE A 7,300 9,100
B A - wasosams] ERETE | —k 0.75 568 500 500 500
x5k A - AR D3RS HREREIR| 0.7F 300 400
A A PRl | ik 3 8,914 8,900 i} —fi% 3 8,595 8,500 8,500 8,500
kAR 3 4,450 BEEE 3 5,800 7,100
44 — % 4 11,886 11,000 | F#OROFED| —iF 2 5,730 5,500 5,600 5,700
HERER| 4 5,500 BEEE 2 3,700 4,700
wH | R 3 8,914 8,900 & —fix 2 5,730 5,700 5,700 5,700
kKl 3 4,450 BERER| 2 4,800 5,200
REEE - wasossms] ERMEHE | —ik | 0.75 2,148 2,100 2,100 2,100
ARG K ERHOITHEY BRI 0.75 1,500 1,800
BT E PR | R 3 5,630 5,600 PRl — % 3 5,428 5,400 5,400 5,400
MK 3 2,800 BERER| 3 3,600 4,500
4% — % 4 7,507 7,500 | FHEOROFHD| —i 2 3,619 3,600 3,600 3,600
K] 4 3,750 BERER| 2 2,400 3,000
®H | & 3 5,630 5,600 & —fix 2 3,619 3,600 3,600 3,600
wEEAE 3 2,800 BERER| 2 3,000 3,300
REEE - wanosams] ERMEHE | —ik | 0.75 1,357 1,300 1,300 1,300
ARG K - ERHOITHEY BRI 0.75 900 1,100
EAERE PR | R 3 4,692 4,600 PRl — % 3 4,524 4,500 4,500 4,500
MK 3 2,300 BERER| 3 3,000 3,700
P4 — i 4 6,256 6,200 P4 — % 4 6,032 6,000 6,000 6,000
K 4 3,100 BERER| 4 4,000 5,000
®H | & 3 4,692 4,600 & —fix 3 4,524 4,500 4,500 4,500
HweEE] 3 2,300 BEEE| 3 3,000 3,700
R — A - wanosss] ERMEHE | —fik | 0.75 1,131 1,100 1,100 1,100
ARG K - ERHOITHEY BEEIE| 0.75 800 900
H2ERRE R 3 4,692 4,600 i — i 3 4,524 4,500 4,500 4,500
HwekEEl 3 2,300 BEEE| 3 3,000 3,700
T | ik 4 6,256 6,200 Tt — i 4 6,032 6,000 6,000 6,000
HEEE 4 3,100 BEEE| 4 4,000 5,000
wE | R 3 4,692 4,600 & H — % 3 4,524 4,500 4,500 4,500
HwekEEl 3 2,300 BEEE 3 3,000 3,700
R — A - wrnosss] ERMEHE | —fik | 0.75 1,131 1,100 1,100 1,100
ARG K - ERHOITHEY BEEIE| 0.75 800 900
H3EBRE PR 3 5,161 5,100 i — i 3 4,976 4,900 4,900 4,900
HwekEKl 3 2,550 BEEE 3 3,300 4,100
T | —fk 4 6,881 6,800 T4 — i 4 6,635 6,600 6,600 6,600
K| 4 3,400 BEEE| 4 4,400 5,500
w®H | & 3 5,161 5,100 & H — % 3 4,976 4,900 4,900 4,900
3 2,550 3 3,300 4,100
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AT % E
e FIFERRE rEREE ik - ERBOsEEL] ERAE R % | 0.75 1,244 1,200 1,200 1,200
TG K - ERHOIEIEY BEEIE| 0.75 900 1,000
TAF= BRI} S 3 5,161 5,100 PRI .13 3 4,976 4,900 4,900 4,900
HERER| 3 2,550 BEEE 3 3,300 4,100
4% — % 4 6,881 6,800 R —fi% 4 6,635 6,600 6,600 6,600
HERER| 4 3,400 BEEE 4 4,400 5,500
w | 3 5,161 5,100 &’ —fi% 3 4,976 4,900 4,900 4,900
HERER| 3 2,550 BEEE 3 3,300 4,100
FEREE % - wRBOsEL] ERMEAE | i | 0.75 1,244 1,200 1,200 1,200
XoTsils - ERHOITIEY BEEIE| 0.75 900 1,000
KEERARKE | H=E PR | % 3 3,167 | * 2,500 ER) —fi% 3 3,053 2,600 2,800 3,000
HERER| 3 1,250 BEEE 3 1,800 2,400
4% — % 4 4,222 4,200 R —fi% 4 4,071 4,000 4,000 4,000
HEREE 4 2,100 BEEE 4 2,700 3,300
R % - wRpoaEs| JERMIE | % | 0.75 763 700 700 700
X Trils ERHOITHEY BEEIE| 0.75 400 500
MOEARKE [HE PR | iR 3 5,630 5,600 PRI — % 3 5,428 5,400 5,400 5,400
HERER| 3 2,800 BEEE 3 3,600 4,500
4% —fix 4 7,507 7,500 R —fix 4 7,238 7,200 7,200 7,200
HERER| 4 3,750 BEEE| 4 4,900 6,000
B A wRpopEs| FERME | —% | 0.75 1,357 1,300 1,300 1,300
XoSrils - ERHOITHEY BEEIE| 0.75 900 1,100
AIERFRE [ HRE PRl | ik 3 703 700 “FiT — 3 678 600 600 600
HERER| 3 350 BEEE 3 400 500
44 — % 4 938 900 4% —fi% 4 904 900 900 900
HERER| 4 450 BEEE| 4 600 700
KR A wRpogEs| FERME | —i% | 0.75 169 100 100 100
XoSrils - ERHOITHEY BEEIE| 0.75 100 100
£A) | FERFAREE | FrakEL R M 3 1,407 1,400 TERiT — 3 1,357 1,300 1,300 1,300
HERER| 3 700 BEEE 3 900 1,100
44 — % 4 1,876 1,800 LS —fi% 4 1,809 1,800 1,800 1,800
HERER| 4 900 BEEE| 4 1,200 1,500
KR A wRpogEs| FERMTE | —i% | 0.75 508 500 500 500
XoSrils - ERHOITEY BEEIE| 0.75 300 400
FrEkE2 PRl | ik 3 938 900 “FiT — 3 904 900 900 900
HERER| 3 450 BEEE 3 600 700
P4 —fix 4 1,251 1,200 Pk — % 4 1,206 1,200 1,200 1,200
EEE 4 600 BERER| 4 800 1,000
REEE - wasossms] ERMEHE | —ik | 0.75 226 200 200 200
ARG K - ERHOITHEY BRI 0.75 100 100
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